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Section type: Online
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647368
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5096477791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given words on one side of : : and one word is given on another side of : :
while another word is to be found from the given alternatives. having the same relation with the word as the words of
the given pair.

Choose the correct alternative.

Unhappy : Sad :: Moisten : ?
Options:
1. = Deny

? % Blunder

3. « Drench

4. = War

Question Number : 1 Question Id : 5096477791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 2 Question Id : 5096477792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given numbers on one side of : : and one number is given on another side of
: : while another number is to be found from the given alternatives, having the same relation with the number as the
number of the given pair.

Choose the correct alternative.

343 :720:: 512: 2
Options:

1. = 643

? % 729

3. % 100

A & 990

Question Number : 2 Question Id : 5096477792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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343 - 720 - 512 - 2
Options:

1. = 643

2 % 729

3 % 100

4. v 990

Question Number : 3 Question Id : 5096477793 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated word is given. Choose a word from the given alternatives that is similar to the given words
and hence belongs to the same group.

Patna : Mumbai : Lucknow
Options:
1. » Tajmahal

? % SunTemple

3. % Kerala

4. « Chennai



Question Number : 3 Question Id : 5096477793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 5096477794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated numbers is given. Choose a numbers from the given alternatives that is similar to the given
numbers and hence belongs to the same group.

5:25:125
Options:

1. = 15
? % 45
3 x 225
4. «» 625

Question Number : 4 Question Id : 5096477794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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5:25: 125
Options:

1. = 15
2 = 45
3 % 225
4. v 625

Question Number : 5 Question Id : 5096477795 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given words on one side of : : and word is given on another side of : : while
another word is to be found from the given alternatives, having the same relation with the word as the word of the given
pair.

Eye : Myopia : : Teeth : ?
Options:
1. = Cataract

? % Eczema

3  Pyorrhoea

4 % Trachoma



Question Number : 5 Question Id : 5096477795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 5096477796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four pairs of words are given out of which the words in three pairs bear a certain common relationship. Choose the pair
in which the words are differently related.

Options:
1. # Door : Window

? % Pencil : Eraser

REE" Horse : Carriage

4. « Car:Spade

Question Number : 6 Question Id : 5096477796 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25
eal % AR B T v § BH & @9 S & el % 99 v Afvea v e wav gl 9 A g9
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Question Number : 7 Question Id : 5096477797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given numbers on one side of : : and one number is given on another side of
: : while another number is to be found from the given alternatives, having the same relation with the number as the
number of the given pair.

Choose the correct alternative.

122 :145::220 %2

Options:
1. % 250

7 @ 257
3. % 260

A % 280

Question Number : 7 Question Id : 5096477797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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122 : 145 - ;: 226 : 7
Options:

1. = 250

2. « 257

3 % 260

4. = 280

Question Number : 8 Question Id : 5096477798 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

One morning Dev was standing facing a tree. The shadow of the tree fell exactly to his left. Which direction he is facing
now?

Options:
1. # East

7 « North

3 % South

4 = West

Question Number : 8 Question Id : 5096477798 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 5096477799 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin, Sahil, Sandhya, Sani, Sanju, Saurabh, Shweta and Sunil are sitting around a round table in the same order for
lunch at equal distance. Their positions are clockwise. If Sanju sits in West, then what will be the position of Sahil?

Options:
1. #= North - East

? % North - West

3. « South - East

A % South - West

Question Number : 9 Question Id : 5096477799 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 5096477800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three different positions of the same dice are shown. Find which one is opposite the face showing W ?

o~ Q [ ]
Sl Rl A Y

1 2 3

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

, O

2.
; @



y 5=

Question Number : 10 Question Id : 5096477800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

4 D

Question Number : 11 Question Id : 5096477801 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Six children A, B, C, D, E and F are standing in a line. F is to the left of E and right of B. D is between A and B. A is
standing right of C Who is standing at the right extreme?

Options:



Question Number : 11 Question Id : 5096477801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

CEd=9A B, CCD,E3RNFFIad AT eI F,EFav iR BFav gl D, ARBFITH
g1 A, C & 2T @=T §| T&eH ST Hid T 272

Options:
1. = C
2. = A
3. v E
4, = D

Question Number : 12 Question Id : 5096477802 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

S, T.U,V, X, Y and Z are sitting around a round table for group discussion. Y is sitting third to the right of S and
between V and X. Z is sitting second to the left of T. V is sitting second to the left of X. What will be the position of 5?
Options:

1. % S issitting second to the left of U



2 % Sissitting between U and Z
3 Sissitting second to the left of V

A, % S issitting third to the left of X

Question Number : 12 Question Id : 5096477802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 & S UF 9 g@ T W AT B

2 x S, UAR ZF &= # a7 8

3 v S, V & a7 gEl T T &37 g
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Question Number : 13 Question Id : 5096477803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Doby is sister of John and older than Shreya.
1L Shreya is older than John and sister of John.

III.  Doby is oldest among the siblings.

If the first two statements are true, the third statement is:
Options:



1. ¢ True

? % False

3w May be true

/. % Uncertain

Question Number : 13 Question Id : 5096477803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 5096477804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A farmer has 21 buffalos. All but 8 died. How many was he left with?

Options:



4 = Nil

Question Number : 14 Question Id : 5096477804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e & ow 21 &F off| 398 ¥ 8 Ay 7| 3T 38F U Faar S F=7

Options:

1. = 21
2 = 13
3. v 8

4« TR T (L)

Question Number : 15 Question Id : 5096477805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the mirror image of?

(=)




Options:

ﬂ
1. =

(=
2. %

=

[E

E

=

E

4. v

Question Number : 15 Question Id : 5096477805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o= &1 2uur yiafes wia @r geme

Options:

1. =



Question Number : 16 Question Id : 5096477806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Following are the criteria to recruit a Teacher in a college:

1 The Applicant must be science graduate with 75% marks.
II. Have his/her age in between 25 to 32 years as on 10-05-2019.
[II. Have a PG degree/ 3 years diploma or must have completed B.Ed. with more than 65% marks.
IV.  Have minimum 3 years’ experience in Teaching.
V.  Beready to join 2 year probation.
If a candidate satisfies all the criteria except

at II above, but is an Arts with Mathematics graduate with minimum 72% marks and has an experience of more than 5
years and more her/his case is to be referred to the Vice President.

at IV above, but master degree’s with minimum 60% marks, her/his is to be referred to the President.

A detail of applicant is given below in the questions. On the basis of the following decision which is based on the data
given above, mark the answer.

Ashish is a B.Sc. Graduate with 80% marks and has completed PG in Mathematics. He completed 28 years of age in
2017 and has 4 years’ experience as a Mathematics Faculty. He is ready to join probation period of 2 year.
Options:

1. = Ifcaseis to be referred to President.



? % If case is to be referred to Vice President.

3« If candidate is to be selected.

4. » If information is inadequate to take a decision.

Question Number : 16 Question Id : 5096477806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 5096477807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Following are qualifications for a technical assistant post in company Alpha.

The candidate must:-
L Be an Engineering graduate with atleast 70% marks.
i Not less than 23 years and not more than 30 years of age on 1.7.2019.
II.  Have passed the selection test with atleast 60% marks.

IV.  Willing to join immediate for training and ready to pay a deposit of Rs. 20000, to be refunded on
completion of training.

However, if a candidate fulfils the above mentioned criteria except :

L. At (I) above, but he has appeared for the last semester examination and obtained an aggregate of 65% marks
in previous semester, his/her case may be referred to the V.P. of the company:.

il At (IT) his/her age is less than 23 years but he secured 80% marks in graduation, the case may be referred to
the General Manager of the company.

The detail of the candidate is given as regards his/her candidature. You have to read the information provided and
decide his/her status based on the conditions given above.

Ravi is an IT engineer passed his graduvation with 73% marks. After getting the engineering degree he has done MCA.
He has cleared the selection test with 70% marks. He is ready to deposit above said amount and want to join
immediately. His date of birth is 2.10.1993.

Options:

1. « If the candidate is to be selected.
? % If the candidate is not selected.

3w Ifthe case is referred to the V. P.



4. » Ifthe case is referred to the General Manager.

Question Number : 17 Question Id : 5096477807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 5096477808 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
The statement given below is followed by two decisions labeled L. and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: A large number of college students are found to be guilty of cheating in annual exam.
Decisions:
I: These students should be handover to police.

II: These students need counseling and should be sensitize for fair exam and learning.
Options:
1. » OnlyIfollows

? % BothIandII follow

3 % Either I or II follow

4. « OnlyII follows

Question Number : 18 Question Id : 5096477808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 5096477809 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: Orissa if badly affected by Fani cyclone and life is paralyzed in the state.
Decisions:
I: As soon as possible relief material must reach the affected people.

II: It is not a first time in Orissa, let people set self.
Options:
1. « OnlyIfollows

? % BothIandII follow

3 % Either I or II follow

4. % OnlyII follows

Question Number : 19 Question Id : 5096477809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 5096477810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: All employees of the office have gone on strike in protest against the privatization of women helpline.
Decisions:
I: The government should withdraw the privatization of helpline.

I: All the employees should be immediately terminated from job.
Options:
1. « OnlyIfollows

? % BothIandII follow



3 % Either I or II follow

4. = OnlyII follows

Question Number : 20 Question Id : 5096477810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Mental Ability2
Group Number : 2
Group Id: 50964793
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2
Section Id : 509647253
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647369
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5096477811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are in the figure?

Options:
1.« 13

? % 14

3 = 16

4 = 18

Question Number : 21 Question Id : 5096477811 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

forr & v P B2

Options:

1. v 13
2 = 14
3 = 16
4. = 18

Question Number : 22 Question Id : 5096477812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When decoded, OPTRRE read as PORTER. In the same way, how EROPTR will read as?
Options:
1. = PROPER

7 % PORT

3.« REPORT

A % ROPE



Question Number : 22 Question Id : 5096477812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fgor=s f5T I X, OPTRRE &I PORTER 9T AT g1 38T ¥R EROPTR =T &7 9gT FATTM?
Options:

1. « PROPER

2 % PORT

3. v REPORT

4. % ROPE

Question Number : 23 Question Id : 5096477813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If CLOCK is coded as 34235 and TIME as 8679, what will be the code for MOLEK?
Options:
1. = 62495

7 % 62945

3 @ 72495

A % 72945

Question Number : 23 Question Id : 5096477813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afE CLOCK &T ®1E 34235 HR TIME T &5 8679 &, ar MOLEK =7 Iz FaT giem?

Options:



1. =« 62495

5 % 62945
3. v 72495
A % 72945

Question Number : 24 Question Id : 5096477814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four numbers are given out of which the three numbers bear a certain common relationship. Choose the number which
is different from others.

Options:
1. % 105

? % 75

3 & 85

A % 165

Question Number : 24 Question Id : 5096477814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 25 Question Id : 5096477815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four figures are given out of which the three figures bear a certain common relationship. Choose the figures which is
different from others.

A
/
<

Options:

1. =

2. %
3. ¢
N

Question Number : 25 Question Id : 5096477815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 5096477816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ASSIGN is coded as SASING. then KIDNAP is coded as
Options:
1. = IKNDPA

7« IKDNPA

3. % IKDNAP



4. % IKAPDN

Question Number : 26 Question Id : 5096477816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe ASSIGN T F1E SASING g, aF KIDNAP &1 &g gremm|
Options:

1. = IKNDPA

2.« IKDNPA

3 % IKDNAP

4. = |IKAPDN

Question Number : 27 Question Id : 5096477817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Venn diagram that best represents the given set of classes:

FOOD, VEGETABLES, POTATOES
Options:

1\
1.v I@I

.. (DO



Question Number : 27 Question Id : 5096477817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fi T 3T 3@, BT 71T T F TEeIT B FafeaH FERT T &

Options:
1. ¢ @
2. % @ Q



Question Number : 28 Question Id : 5096477818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘A - B’ means A is mother of B, "A $ B’, A is sister of B, ‘A (@ B’ means A is father of B and ‘A=B’ means A is son
of B.

IfR- S $ O (@ P, then how O is related to R?
Options:
1. » Daughter

? « Son

3. % Brother

4. w% Niece

Question Number : 28 Question Id : 5096477818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I A-BRmATA BRI ATE ASB FHNTA BRagag, ' A@B = 5T A B =7 Rar g,
3R ‘A=B' &1 HF A, B F I 3

IfER-S$S0@P, a0, R ¥ 9 vor #afaTg &2

Options:



Question Number : 29 Question Id : 5096477819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ram and Mohan are brothers. Shweta and Anu are sisters. Dinesh is husband of Manju, who is daughter of Manoj. Ram

is son of Manoj and Anu is daughter of Dinesh. How Dinesh is related to Mohan?
Options:
1. % Son

? % Brother

3. % Father

4. « Brother in law

Question Number : 29 Question Id : 5096477819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR A s AR s aea & e, s ol g St s Hr o & mw, W
g, 3k 3, REr $ gga &1 REw, A @ B 9w e 2
Options:

1. = @&



4 o SEAS/ETEN/EE

Question Number : 30 Question Id : 5096477820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘P * Q" means P is father of Q, ‘P % Q’, P is daughter of Q, ‘P # Q" means P is mother of Q and ‘P = Q" means Q is
son of P

If M *N # O % R, then how R is related to M?
Options:

1. % Brother in law
? « Soninlaw
3. % Father in law

A % Mother in law

Question Number : 30 Question Id : 5096477820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fRP-QHFITP,QFRAAME P A FITP, QH TN, PHAQ FHIP, QHF ATE,
dRP=Q FaTQ P& I

IEM+N#O %R, @R MT BT ger gsfdg 22

Options:

1« FEASIATEER




Question Number : 31 Question Id : 5096477821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code PEASANT is written as RGCUZPV, How will be SUBJECT written in that code?
Options:
1. « UWDLHEV

% % UWDLFEV

3. v UWDLDEV

/4. « UVDLDEV

Question Number : 31 Question Id : 5096477821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U+ A9 Ta FIF § PEASANT & RGCUZPV for@r =ar g1 38T 1 #§ SUBJECT &' g vt forar

SATTIT?
Options:

1. %= UWDLHEV

2 % UWDLFEV

3. v UWDLDEV

4. %= UVDLDEV

Question Number : 32 Question Id : 5096477822 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
In certain code PAY is written as 400, How will be EAT written in that code?

Options:
1. = 200

7 % 150

3.« 100

A = 75

Question Number : 32 Question Id : 5096477822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v ARET FF # PAY #1400 Or@r Sar g1 38 F1F # EAT & 59 gor orgr Fmeem?

Options:

1. = 200
2 % 150
3. » 100
4. = 75

Question Number : 33 Question Id : 5096477823 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 WrongMarks: 0.25

Which of the following pairs of signs, when their positions are interchanged, will correctly solve the given mathematical
equation?

15+11-22+2x%

=1

L

9

hn

Options:



1. % —+and=x

? % +and+
3.« +andx
4 = +and-

Question Number : 33 Question Id : 5096477823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fort & @ fow feg 3w A, 3o Tfoar e sgo = @ R wmar a1 adetor w8 & @
FTT?

15+ 11 -22 + 2 x5 =159
Options:

1w =

2. % + e

Question Number : 34 Question Id : 5096477824 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

6+3x2+4-7=12
Options:



1. = 6 and 2, + and —
? % 3and6,—and >
3 « 4and7, xand+

4 = 3and 7. +and —

Question Number : 34 Question Id : 5096477824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et 7 Rl & T # ¥ B9 3o A, 39 Pufan WER see I W e it
HHRIOT T & g SATeIm?

6+3x2+4-7=12
Options:

1 = 63R2 +3R-

2 & 3 3RS, - 3R x

3. v 437, xR+

4 x 33X 7, + 3R -

Question Number : 35 Question Id : 5096477825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Ten teams take parts in a cricket tournament. Each one has to play every other one. How many games must they play?

Options:
1. = 44



2. 45

3. % 47

4 = 90

Question Number : 35 Question Id : 5096477825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF Trhe &7 H 29 AAT F 9197 O 81 9939F FF 933F 3T ¥ UF IX QT 2] 395 gy 3R

Telw ger?
Options:

1. = 44
2. v 45
3w 47
4 = 90

Question Number : 36 Question Id : 5096477826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words have been given out of which three are alike in some manner, while the fourth one is different. Choose out
the odd one.

Options:
1. # Cuba

2 x Portugal



3. % Greece

4. « Oslo

Question Number : 36 Question Id : 5096477826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= oreg T arv § omd @ A9 5 9o wae 8, Sfefes dtur e 31 seea @ g

Options:

Question Number : 37 Question Id : 5096477827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In problem., out of four figures marked 1, 2. 3 and 4, three are similar in a certain manner. However one figure is not like
the other three. Choose the figure which is different from the rest.

Answer Fig.

1| & =
-V A\ .‘l 7
AN ""‘ AN
| 2 3 4
Options:

1. = 1



4 v 4

Question Number : 37 Question Id : 5096477827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H, 1, 2, 3 AT 4 FFT IR BET # ¥ 39 O 9eR g1 21 g v R, 39w 99 % 5
7t ¥l 9 R o S 9w ® B

1| ¢ QB>
-,V A/ 5
/o> '\'t A
1 2 3 4
Options:
1. = 1
2. % 2

Question Number : 38 Question Id : 5096477828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will correctly replace the question mark (?) in the series.

15, 28,41, 54,7
Options:
1. = 65

7 % 86
3. & 67

A = 77

Question Number : 38 Question Id : 5096477828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ T I S g@er 7 woF foeg (7) #F WEr yioeia T

15, 28, 41, 547

Options:

1. = 65
72 u 86
3. v 67
4 = 77

Question Number : 39 Question Id : 5096477829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will correctly replace the question mark (?) in the series.
71,2296 35,51 7

g iy i

Options:
1. = 64

3 % 73

4« 76

Question Number : 39 Question Id : 5096477829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ feT I S g@er # goF ey (7) # wér giaraia e

2); 22, 26, 35, D17

Options:

1. = 64
2 = 67
3 % 73
4, v 76

Question Number : 40 Question Id : 5096477830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will correctly replace the question mark (?) in the series.

0.4, 8, 16, 24, 36,7
Options:
1. v 48

%
b4
N
("

Question Number : 40 Question Id : 5096477830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ T I S g@er 7 woF foeg (7) #F WEr yioeia T

0, 4, 8, 16, 24, 36,7

Options:

1. v 48
2. % 50
3 = b2



General Awarenessl

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

3
50964794
0

0
No
No
0
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General Awareness1

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

509647254
1

Online
Mandatory
20

20

20

1
509647370
Yes

Question Number : 41 Question Id : 5096477831 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The toxic effect of which one of the following air pollutants is
due to more than 200 times greater affinity than Oxygen for

haemoglobin?

Options:

1. v Carbon monoxide
2. » Methane

3. = Sulphur dioxide
4. = Nitrous Oxide

Question Number : 41 Question Id : 5096477831 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



foret A @ ThE oy ve¥eh T fAWTFd Torma SEehT BTl oot
% oI 3TTsTer T Jelell A 3TIF FLUHIAT &led & FHOT
200 AT TR & STl &7

Options:

1. v FEd ABFAES
2. = Hrde
3. » oWl SEHFISS

4. = dAZcH FaEs

Question Number : 42 Question Id : 5096477832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The soil-less culture of plants is called?

Options:

1. = Apomixis

2. v Hydroponics
3. = Flaming
4. = Phenolic exudation

Question Number : 42 Question Id : 5096477832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gie & AT Tgd el T Fgl ST &7

Options:

1. = ToifATSad

2. v gEEIOTEE

3. = FolfHdr

4. » Wallfeleh TFIfSerel

Question Number : 43 Question Id : 5096477833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What is the informal name given to the United Nations
conference on Environment and Development?

Options:

1. » Green Summit
2. » Blue Summit

3. = Water Summit
4. v Earth Summit

Question Number : 43 Question Id : 5096477833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TATEOT 3R fahre oT HYFT USE GFEAST HI Fle &7
Mt a1F T T §7

Options:

1. = el FAC
2. = ¢ HiAC
3. = g "ifAC
4. v T GAC

Question Number : 44 Question Id : 5096477834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of World’s first Greenhouse gas monitoring
satellite launched by Japan?

Options:

1. v Ibuki
2. » Hinode
3. = Akari
4. = Jinja

Question Number : 44 Question Id : 5096477834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SITATeT S@NT TETH Efeidm & Tge dlegsy 4w R suag

&l oTH FIT &7

Options:

1. v 3T (Ibuki)
2. = fgalig (Hinode)
3. % 3ThRT (Akari)
4. « T (Jinja)

Question Number : 45 Question Id : 5096477835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following teams/clubs has been conferred
with ‘Sports Club of the Year 2018 award by ISA
(International Sports Awards)?

Options:

1. v Wild Boars Football team

2. » Manchester United Football team
3. = Barcelona Football team

4. » Seville Football team

Question Number : 45 Question Id : 5096477835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d A @ Tored SrA/Ferd HT ISA (ITTSET Fol JIERR)
CaNT T Fordl 31 T $AT 2018 TWEHR & HEATId Tohar
IR &7

Options:

1.%313?5’@1‘#@3[@?
2. » eI YAT3es Bedle A
3. = SIfHelle Beaia <A




4. » AR FeaTT A

Question Number : 46 Question Id : 5096477836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which cricketer has been recently appointed as the first
non-British President of the Marylebone Cricket Club (MCC)?

Options:

1. * Rahul Dravid
2. » Sachin Tendular

3. v Kumara Sangakkara
4. = Ashish Nehra

Question Number : 46 Question Id : 5096477836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&l &I H o Tohehed &I Heldld Tshehe Fald (MCC) T 9gal
IR-fafeer areger fagera frar amm &7

Options:

1. = g ALK

2. » Qi dgert

3. v AR HITRNT

4. = 3Mely A LT

Question Number : 47 Question Id : 5096477837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which institute the IT giant Wipro has partnered
recently to undertake applied research in 5G and artificial
intelligence?

Options:

1. = IIT Delhi
2. = BITS Pilani
3. v IIT Kharagpur



4, = Amity University

Question Number : 47 Question Id : 5096477837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3MSET feFarst fawr o grer &1 # 5G 3 FHAA FrgHcdT & &7
H 3ugeFd Ul 4% Flel & folv v T & arg
mﬂaﬁﬁr’é”?

Options:

x TSITEET TSooll
« Toeg Temar

3. v BISTELT TSIYT
 UTAST Ylaarads

Question Number : 48 Question Id : 5096477838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which movie has won the Oscar award for best visual effects
at Oscars 20187

Options:

1. = Guardians of the galaxy

2. v Blade runner 2049

3. » Skull Island

4. = War for the planet of Apes

Question Number : 48 Question Id : 5096477838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HERT 2018 H TIASS 2T THTE! & Tolv 3 TR EXs
hed & SIAT?

Options:
x IMTSTT 3TH roterdr
2. v solg {&X 2049




3. = Tohel 338

4. » g B & Tolldc 3Th Tl

Question Number : 49 Question Id : 5096477839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR werdeT H, FAHRT HT HIAST FT gar oA

1. v 329 3N FREE & 97T
2. % hINTEIET

3. » HHAST o1 dIH

4,

% 9% T&T THE

Question Number : 49 Question Id : 5096477839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the Mauryan administration, what was the role of
‘Karmantika'?

Options:

1. v Head of industries and factories.
2. = Treasury Chief

3. = Commander in Chief

4. = Chief of Home defence

Question Number : 50 Question Id : 5096477840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who founded the Lodhi dynasty?

Options:

1. v Bahlul Lodi

2. » Sikander Lodi

3. = Ibrahim Lodi

4. » Daulat Khan Lodi



Question Number : 50 Question Id : 5096477840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ger hr TATIAT Tohda hI7?

Options:

1. v Sgollel olar
2. » ey ol
3. = TEIGH oal
4, = Zlerd JreT oher

Question Number : 51 Question Id : 5096477841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

During the reign of which Viceroy, the Rowlatt Act was
passed in India?

Options:

1. = Lord Lytton

2. v Lord Chelmsford
3. = Lord Irwin

4. = Lord Wavell

Question Number : 51 Question Id : 5096477841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT H Uole Tohe TR TG & AR & aillel 9TRd
ToRaT T uar?

Options:

1. = oz Tolca

Question Number : 52 Question Id : 5096477842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



With which region do you associate the ‘Pabna’ movement
which happened between 1870 to 18807

Options:

1. = Kerala

2. = Telangana
3. = Gujarat

4. v Bengal

Question Number : 52 Question Id : 5096477842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1870@1880$W§'wma#ﬁmmﬁaﬁa

ST GehdT &7

Options:

1. % el
2. % deldlell
3.%@31‘!?

4. v STl

Question Number : 53 Question Id : 5096477843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many types of Bills are passed in the parliament of India?

Options:

1.v4
2.% 8
3.%9
4. % 10

Question Number : 53 Question Id : 5096477843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT FT IO A Frda TR & @Ot S ITRT ar Sar 87

Options:




1. v 4
2.

3. = 9
4, = 10

Question Number : 54 Question Id : 5096477844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The total number of High courts in India is?

Options:

1. = 23
2. % 20
3. % 22
4. v 25

Question Number : 54 Question Id : 5096477844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H 3T «A=Terdr T GRS q&aT Tohcail &7

Options:

1. = 29
2. = 20
3. = 22
4. v 25

Question Number : 55 Question Id : 5096477845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The second state in India which adopted the Panchayati Ra]
system:

Options:

1. v Andhra Pradesh
2. = Rajasthan



3. = Maharashtra
4. = Uttar Pradesh

Question Number : 55 Question Id : 5096477845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT H T T STTEAT HI 39ellad dTell GEIT TS il
HT AT

Options:

1. v 3¢ vcer
2. % IToTEATdd
3. » HENTSE
4. % 3cd¥ vaer

Question Number : 56 Question Id : 5096477846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of Indian constitution directs the State to strive
for uniform civil code for the citizens?

Options:

1. = Article 74
2. = Article 54
3. v Article 44
4. = Article 34

Question Number : 56 Question Id : 5096477846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT HITLTeT T e AT efede Tod H ARG & o
HHIS AR HIGAT o] el & oI 9 el T foider dar
&7

Options:

1. » 3eeag 74




2. = 3Ieade 54
3.&?31@1—_&?[44
4. = 3aeade 34

Question Number : 57 Question Id : 5096477847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which amendment act has inserted ‘Right to Education’ in the
Indian constitution?

Options:

1. » 76th amendment act
2. v 86th amendment act
3. = 66th amendment act
4. = 56th amendment act

Question Number : 57 Question Id : 5096477847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRAT dladrel # ford denye 3T gH arRT ‘R8T 1
TR STell IT7?

Options:

1. % 76 o1 gnyd ATATATH
2. v 86 dT Henyge fafaasa
3. = 66 dT gy Al
4. = 56 o1 Fenel Al

Question Number : 58 Question Id : 5096477848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the annual MPLADS (Members of Parliament Local
Area Development Scheme) fund entitlement per MP
constituency?

Options:

1. v 5 Crore



2. % 10 Crore
3. = 15 Crore
4. = 8 Crore

Question Number : 58 Question Id : 5096477848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&Y Toraae &7 & ufad 9we MPLADS (919E T &

T ATeTdT) B8 Torddl &iaT &7

Options:

1. v 5 #008
2.« 10 FE
3. = 15 &g
4. = 8 T

Question Number : 59 Question Id : 5096477849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The team ‘New York Yankees’ is associated with which sport?

Options:

1. = Rugby

2. v Baseball

3. = Cricket

4. = Ice Hockey

Question Number : 59 Question Id : 5096477849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG AThIST STA 6 Tl & Fafdd §7

Options:

1. = T@aT
2. v Sl
3. » Tehahe



4, = 33T Blepl

Question Number : 60 Question Id : 5096477850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

With whom did Saketh Myneni partner to win mixed doubles
gold for India at the 2014 Asian games?

Options:

1. v Sania Mirza

2. » Neha Oberol

3. » Rashmi Chakaravarty
4. = Shika Oberol

Question Number : 60 Question Id : 5096477850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2014 * URRITS Tl A 9 & forv AT garer shr waol
Sidel dTel HTohd HATSalell o Tohdar AT TTSIERT ahl oAT7?

Options:

1. v "ifaar &=
2. % oigT 3T
3. = ¥R Tohadi
4. = formr &g

General Awareness?

Group Number : 4
Group Id: 50964795
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
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Group Marks: 20
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Revisit allowed for group Instructions? : Yes
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General Awareness2

Section Id : 509647255

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 509647371
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5096477851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

First cricketer to receive Rajiv Gandhi Khel Ratna award is?

Options:

1. = Sunil Gavaskar

2. » Ravi Shastri

3. = Kapil Dev

4. v Sachin Tendulkar

Question Number : 61 Question Id : 5096477851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSl ey Wl Teal qERR U el dTe Tgel Fhehed 87

Options:

1.w§?ﬁ?»raﬂam
2. % Jd ATEAT
3. % Hidel ad

4. v G ﬁ%ﬂt*i

Question Number : 62 Question Id : 5096477852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With Indian state the ‘Warli’ folk painting is associated?



Options:

1. = West Bengal
2. » Kerala

3. v Maharashitra
4. = Manipur

Question Number : 62 Question Id : 5096477852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TR olleh ”IFhell v HRAT T 8 9790 &7

Options:

1. = UTeTH el
2. % RIel

3. v HENISE
4.wﬁg¢

Question Number : 63 Question Id : 5096477853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which Indian state do you associate the ‘Muria’ dance?

Options:

1. » Maharashtra
2. v Chhattisgarh
3. » West Bengal
4. = Telangana

Question Number : 63 Question Id : 5096477853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARAT kel foha dRAT T & FafAT &7

Options:
1. = HGNISC
2. v BcAIHIG




3. = TIegH STl
4, = T

Question Number : 64 Question Id : 5096477854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The festival ‘Teppam’ is mainly celebrated in which one of the
following states of India?

Options:

1. = Kerala

2. » Karnataka
3. v Tamil Nadu
4. = Telangana

Question Number : 64 Question Id : 5096477854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'ATH ATHS IR [dedToli@dd H & $id & dRaT Tsg H

G 9 HAAET ST 87

Options:

1. = el
2. % Shallceh
3. v dmmmg

4, = TeldTelT

Question Number : 65 Question Id : 5096477855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The river Nelson originates from which one of the following
countries?

Options:

1. = Mongolia

2. = Russia
3. = Germany



4, v Canada

Question Number : 65 Question Id : 5096477855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATede ool farT # & &iT & 297 @ Aekorar &7

Options:
1p. x FINToIT
2. » ®H

3. = STHAT
4. v Fd1sT

Question Number : 66 Question Id : 5096477856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is Gandhisagar dam located in India?

Options:

1. v Madhya Pradesh
2. = Jharkhand

3. = Telangana

4. = Bihar

Question Number : 66 Question Id : 5096477856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # R 1y g g §7
Options:

1. v AET JeT
2. * HNES
3. = JoralaT
4, = T98R

Question Number : 67 Question Id : 5096477857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The highest mountain peak in the Western Ghats 1s?

Options:

1. = Doddabetta

2. v Anamudi

3. » Meesapulimala
4. » Kolaribetta

Question Number : 67 Question Id : 5096477857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TIRTHAT O1C T Tod 39T I9d dlel sie T §7

Options:

1. = ZIETSET
2.&?3-13'@@'
3. = ATl

M

4. = FHITNISEr

Question Number : 68 Question Id : 5096477858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FERA (®Rel UsRiel Welelel Tse) T 2000 # faa=
fafaae ganrT ufaearia T faar = o1

Options:

1.%%’]’1’@9@%3{@%@
2. » HRAN 3fefay 3ffafagd

3. » FEIEAAT AT Forg fafegA
4. » ARl FHer sgrelr JfafaaA

Question Number : 68 Question Id : 5096477858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FERA (Foreign Exchange Regulations Act) was replaced in
2000 by which one of the following act?



Options:

1. v Foreign Exchange Management Act
2. = The India contract Act

3. » Arbitration and conciliation act

4. = Foreign Exchange Revival Act

Question Number : 69 Question Id : 5096477859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the main objective of Bharat Nirman Yojana initiated
by Government of India?

Options:

1. v To provide infrastructure for rural areas

2. = To provide funding for unemployed to start business
3. » To set up training centers for young entrepreneurs
4. = To set up new organizations and create employment

Question Number : 69 Question Id : 5096477859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TFR ZgRT YE HT 5 AR AT AT FT JE&F
3%y AT &7

Options:

1. v ATAOT &5 & folv aarer arm awfaa wLar

2. * SUSHIRT ST oTql IF e & v e SToree e
3. * JaT 3eFAAT & forv uferor &g womiod e

4. = TV FISe FANIT LT 3 VSRR FT Folal el

Question Number : 70 Question Id : 5096477860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The financial institute NABARD was set up by Government of
India in 1982. The full form of NABARD is?

Options:




1. ¥ National Bank for Agriculture and Rural Development

2. = National Bank for Agricultural and Research Development
3. = National Board for Agricultural and Rural Development

4. = National Bank for Augmented Rural Development

Question Number : 70 Question Id : 5096477860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

facdig AT AETS T FATIAT AT TR ZaRT 1982 & @l
g ATl SATETS T T ATH FIT 872

Options:

1. v AL Sk B TAThedd U5 Wl sdaUdC
2. = el Sh WY UIlehed? VS N STIUHC
3. * 32Tl S8 BN Tilhetd TS W sTodHC
4.

« ATeTel Seh HIT HTATCE el STelTHC

Question Number : 71 Question Id : 5096477861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Turpentine oil is extracted from wood of which one of the
following plants?

Options:

1. » Bamboo
2. = Neem
3. v Pine

4. » Banyan

Question Number : 71 Question Id : 5096477861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & O forg gl Fr oersl & aREA T dof feTehTall
ST 87

Options:




B~ W N =
<

Question Number : 72 Question Id : 5096477862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Formalin, the liquid used for preserving biological specimens
1s solution of?

Options:

1. v Formaldehyde

2. » Formic Acid

3. = Fluoro Benzene

4, = Ethane 1,2 diammine

Question Number : 72 Question Id : 5096477862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TiATelel, STideh el & TL&T0T & folv H1A H fo:r S g,

g Toieat 1 Tderder gidr &7

Options:

1. v BIHTCSEISE
2. = WIfHs TS
3. = TFolRT Sallal
4.« T 1, 2 FATH

Question Number : 73 Question Id : 5096477863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of speed of air craft to the speed of sound is called?

Options:

1. = Craft number



2. v Mach Number
3. *» Fly number
4. = Jam Number

Question Number : 73 Question Id : 5096477863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gaTs STgTel hr 1Ty 3T edfel sk a1fcy S 3T T Fgl ST
&7

Options:

1. % SFIFC TG

2. v HIF &

3. %= 3=TaT &I

4. = JATH &

Question Number : 74 Question Id : 5096477864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The brightest star visible from any part of the earth is Sirius.
This is also known as?

Options:

1. v Dog Star
2. = Cat Star

3. = Rock star
4. » Sand star

Question Number : 74 Question Id : 5096477864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gedl & ToralT ofr omer & femms daf arem Hed aHehTel R
RARTg &1 =8 3@ /7 & o7 Ser Srar 82

Options:

1. v ST ¥R




2. ® $he TR
3. = Tk TR
4. » 9% TR

Question Number : 75 Question Id : 5096477865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of India’s first Giga-Scale supercomputer?

Options:

1. » YUVA 1000
2. » YUVA 8000
3. v PARAM 8000
4. « PARAM 1000

Question Number : 75 Question Id : 5096477865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT F Ugel AM-Tohel FUHRFIET KT ATH &7

Options:

1. = YUVA 1000
2. = YUVA 8000
3. v PARAM 8000
4. = PARAM 1000

Question Number : 76 Question Id : 5096477866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The full form of CDMA, a technology in mobile telephony is?

Options:

1. = Code Digital Multiple Access
2. = Cellular Data Multiple Access
3. v Code Division Multiple Access
4. = Code Division Mobile Access



Question Number : 76 Question Id : 5096477866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AlSTSel CollPlell H RTA e dTell deheileh CDMA ST qIT STA
AT &7

Options:

1. » I8 2Teicd HedlUel TFOH
2. % ngm 22T Hedl9el T

3. v ®I5 TBdleld Acdud Taad
4. » 3 B AESd Ay

Question Number : 77 Question Id : 5096477867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The first FBTR (Fast Breeder Test Reactor) set up at
Kalpakkam , Tamil Nadu was jointly designed by BARC
(Bhaba Atomic Research Center) and ?

Options:

1. = IIT-Kharagpur

2. v Indira Gandhi Center for Atomic Research
3. = Physical Research Laboratory
4. = Saha Institute of Nuclear Physics

Question Number : 77 Question Id : 5096477867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dTAeIATg & sholdsrerd H TAMAT Tgell FBTR (FRE 88T ¢Fe
Rueet), BARC (18T GTATY] 3Hepaerlel she) 3R foieet o 2@ny
TFT &7 8 5ol foram arm ar?

Options:

1. = 3MS3MST-FZITI
2. v ST ey uAT sTeEdTe Sg




3. = Aa+F H?;Ijlﬂl'%ﬂ?l' T3l
4. = @ET FEICYL 3E wgfForad fhierd

Question Number : 78 Question Id : 5096477868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year the Bio-diversity international was established,
which functions as International Board for Plant Genetic
resources?

Options:

1. = 1999
2. % 1964
3. %1994
4.+ 1974

Question Number : 78 Question Id : 5096477868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U JTefaitereh e & folv e &S & §9 # F1A
el ATell TEAT FTAT STATCT Selaieleldl el TATIAT v a¥
7 &5 o

O
Options:

1. = 1999
2. = 1964
3. = 1994
4, v 1974

Question Number : 79 Question Id : 5096477869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which organization of UNO aims at building peace through
International Cooperation in Education, Sciences and Culture?

Options:

1. v UNESCO



2. » UNHCR
3. = WIPO
4. = FAO

Question Number : 79 Question Id : 5096477869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UNO & Tore H9TGeT T 3ued fR1eT, Toare 3K d&hiad #
HRTSET FEaer & Ategd & oty wunfa siaT &7

Options:

1. ¢ Eﬁl—‘cﬁ
2. = qﬂwwa"mu

3. * Seeg3Medral

4. = UHUAHT

Question Number : 80 Question Id : 5096477870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year, Imperial Cricket Conference (the old name of
the International Cricket Council) was set up?

Options:

1. = 1899
2. % 1929
3. = 1919
4, v 1909

Question Number : 80 Question Id : 5096477870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SRSl fohehe Fiethdl (HRTSET Tohshe TR T Q=T ATH)
hl TATTEAT fohE g H T g o417

Options:

1. = 1899




2. %= 1929
3. = 1919
4. v 1909

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions;

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

Arithmetic Ability1

5
50964796
0

0
No
No
0
20
No
Yes
0

0

Arithmetic Ability1

509647256
1

Online
Mandatory
20

20

20

1
509647372
Yes

Question Number : 81 Question Id : 5096477871 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

5 7
The value of 1
5+—r 107
S
g

Options:

1. =

I



Question Number : 81 Question Id : 5096477871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

—— +—— T AT AT FY:
107

Question Number : 82 Question Id : 5096477872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

12 %272 =16+ 264
1256 = 32— 26.25

?

Options:
1. = 34



Question Number : 82 Question Id : 5096477872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gel H:

12 X 272 + 16 + 264
1356 .33 — 9698 °

Options:

1. = 34
2. v 36
3 = 38
4. = 56

Question Number : 83 Question Id : 5096477873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should replace *?” in the equation given below?

Fa=gin E iy

17 34 25
Options:



2
L
®
| L t |t ul |

bW

4 =

Question Number : 83 Question Id : 5096477873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

arr foT a7 gEetoT H Y & T 9T T HIUE?

e B B )

i7 34 25
Options:
o
1. v s
&
? % s
3
3 % s

Question Number : 84 Question Id : 5096477874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

60% of 4500 — =222 __ 200 of 95 — x. Find the value of x 7

V256




Options:
1. % 504

A v 494

Question Number : 84 Question Id : 5096477874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4500 FT 60%—9i§9—95 FT 20% = x. ‘'« FTHTAIATFI?
Options:

1 % 504

2 % 500

3 » 594

4. v 494

Question Number : 85 Question Id : 5096477875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of *x” in the following equation?

1174 1.17 4+ 0.112+ 0.011* = x

Options:



1. % 122.441121
7« 122222221
3. % 122331211

A % 122441211

Question Number : 85 Question Id : 5096477875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

J=r T 7T e F ' FT AT T 27
1124 1.12 4+ 0.112+ 0.0112 = x

Options:

1. = 122.441121
2. v 122.222221
3. % 122.331211

4. = 122.441211

Question Number : 86 Question Id : 5096477876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sz 2 gy, = . 0 g e o

100000 10000 1000 10000 F

Find the approximate value of x* ?

Options:



3 % 196

Question Number : 86 Question Id : 5096477876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JZU] | A W - e A

100000 10000 1000 10000 o

v F AR AT T ?
Options:

1. = 16

2. v 256

3 = 196

4 = 14

Question Number : 87 Question Id : 5096477877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The expression (251.98 X 251.98 + 251.98 X x + 48.02 X 48.02) will be a perfect square for which of the following
values of x7?
Options:



7 % 964

3. % 48.02

A v 96.04

Question Number : 87 Question Id : 5096477877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

x & FEAW & forw Famor (251.98 X 251.98 + 251.98 X x + 48.02 X 48.02) Teh JUT =T g1e?

Options:
1 % 482
2 « 964
7 % 48.02
4. » 96.04

Question Number : 88 Question Id : 5096477878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
1 1 a

5+57% 1+52 13

Find the value of a®.
Options:

1. = 64



? & 729

3 % 4096

Question Number : 88 Question Id : 5096477878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
1 1 a

st | ggs® g3

'a®’ T AT TAT HL |

Options:

1. = 64

2. v 729
3 % 4096

Question Number : 89 Question Id : 5096477879 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

One half of one-eighth of a land is bought by Ramesh for Z 50,00.000. What is the value, in rupees, of one-fifth of the
land?

Options:

1. % 1.62.00.000



7« 1.60,00.000

3w 1.63,50,000

4. = 1.64,50,000

Question Number : 89 Question Id : 5096477879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAY & U @S & U 8T 31Sa (gFd 1 3mar FEAr T4 50,00,000 F @lET| 36 #@S F T e
g REE #1, T H, A 9497 F:02?

Options:

1 x 1,62,00,000

2 » 1,60,00,000

3 % 1,63,50,000

A % 1,64,50,000

Question Number : 90 Question Id : 5096477880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 9.24x = 1.32y, then find the value of i: z X 37
Options:
1. = 3

2. v 1



IR

i |

4 =

Question Number : 90 Question Id : 5096477880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofE 9.24x =132y ar ii:i X 3 ST AT IT Y ?

Options:
1. = 3
2. v 1

01| e

| e

Question Number : 91 Question Id : 5096477881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the HCF of 2.8, 11.2 and 0.84.
Options:
1. = 28.0

7« 0.8



A % 0.028

Question Number : 91 Question Id : 5096477881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2.8, 11.2 3T 0.84 F1 AZgcaH FANSY IdT F7

Options:
1 = 280
2.« 028
3. % 2.80
4w 0.028

Question Number : 92 Question Id : 5096477882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the least number by which 1650 should be multiplied in order to produce a multiple of 14507

Options:
1. « 29

? % 33

3. 0% 24

4 s 21

Question Number : 92 Question Id : 5096477882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



1450 & Ut Ta & v g & @ sgaaw g&ar #1650 & Iom faFar smar =nfge?

Options:

1. v 29
2 = 33
3 = 24
4 = 21

Question Number : 93 Question Id : 5096477883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The HCF of three numbers is 5. If these numbers are in the ratio of 105 : 165 : 231, find the sum of the three numbers.

Options:

1. = 2505

A & 835

Question Number : 93 Question Id : 5096477883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 HEAHT 1 FgeaH FAMSY 5 gl If Ig A 105:165:231 & deurd A g, A 57 GEAHT AT
TaT F|

Options:



1.« 2505

2 u 855
3. % 2515
4. « 835

Question Number : 94 Question Id : 5096477884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bag contains 2 rupee, 1 rupee, fifty paise and twenty five paise coins in the proportion of 3 : 5: 7 : 9. If the total
amount is ¥ 268, find the number of 1 rupee coins in the bag.

Options:
1.~ 80

? % 112

3 = 48

4 = 144

Question Number : 94 Question Id : 5096477884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ve ¥ F 2 TOT, 1 74T, 9EE 9 AR o==hw 3 & e 3:5:7:9 % a9d # § I To ¥ w9
268 g, ar dor # 1 TUT F A Hr FE=AT I9T FI

Options:

1. v 80



2 % 112

4, = 144

Question Number : 95 Question Id : 5096477885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ramesh, Ravi and Rahul together earn 23184 and spend 60%, 70% and 80% of their salaries respectively. If their
savings are in the ratio of 28 : 42 : 30, the salary of Ravi is:

Options:
1. v 9016

7 % 9660

3. % 4508

A. % 9000

Question Number : 95 Question Id : 5096477885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T, Iﬁaﬂrr@ﬁw-mﬁﬁwm 23184 FATY § 3T 39ar ag7 F1 FHA: 60%, 70% 3T 80%
foem @ Fa ¥ TG 39ET TEA F I 28:42:30 7, A [ F A9 T4

Options:

1. « 9016

2 % 9660



3. % 4508

4. = 9000

Question Number : 96 Question Id : 5096477886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 88% of 1110+ 24% of 630 — 3x = 282, then x is equal to:
Options:
1. % 564

7 @ 282

Question Number : 96 Question Id : 5096477886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TfE 1110 T 88% + 630 FT 24% — 3x = 282%, o 'x' FTATIATH |

Options:
1. = 564
2. v 282

3. % 282



4. % 56.4

Question Number : 97 Question Id : 5096477887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a school, 180 students are studying in the oth ¢lass. Among them, 35% are rich and others are poor. There are 80 girls
in the class, of whom 65% are poor. How many rich boys are there in the class?

Options:
1. = 28

L

2. 3

Question Number : 97 Question Id : 5096477887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS THer H OF7 FET H 180 ©IF Y €1 398 ¥ 35% 3w & X avhr & wliw &1 waw 7 80 wsfRr
g, o & 65% ia g1 o Faw i Fam A faaer R =% £

Options:

1. = 28
2. v 35
3 = b2



Question Number : 98 Question Id : 5096477888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A rainy day occurs once in every 5 days. One-quarter of the rainy days produce rainbows. The percentage of days
having no rainbows is:

Options:
1. = 18%

7 % 16%

3. v 15%

A = 5%

Question Number : 98 Question Id : 5096477888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& 5 feat & vw e awfver g §1 oty & @t & wo-dtug R # seguey P 81 & 3= =t
FT JAerd FaC S Seouiay 8l (bl &:

Options:

1 = 18%
2 % 16%
3. v 15%
4 = 5%

Question Number : 99 Question Id : 5096477889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average age of Ram and Rohan is 45 vears. If Aravind were to replace Ram, the average age would be 44 years:
and if Aravind were to replace Rohan, the average age would be 46 years. What are the ages of Ram, Rohan and
Aravind, respectively, in years?



Options:
1. = 43,4547

Question Number : 99 Question Id : 5096477889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 3R g #r dHad 3g 45 a9 71 I TH & TUE W REG F 3 A |, AT 3g 44 a9 @
S & AR 3l UE & T W IR a1 e, & ied g 46 a9 & I &) & FAw 1R, Jga
AR 3rfag #r 37y (3wt A) FAC?

Options:

1 % 43, 45, 47

2« 43,47, 45

3« 45, 43, 47

4. o 47,43, 45

Question Number : 100 Question Id : 5096477890 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The average of 4 natural numbers is 162.5. The highest natural number is 326 and the lowest natural number is 74. The
difference between the remaining two natural numbers is 44. Which of the following natural numbers is higher of the
remaining two natural numbers?

Options:



1. «» 147

7 % 103

3. % 144

A % 106

Question Number : 100 Question Id : 5096477890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 grpiaes HEAHT F AET 1625 §1 37 FIH T3 Wiplae GEAT 326 § AR HEH SR Ipiae HEdT
74 §| 3T & THide TEATHT F T F HR 44 g1 9 T FiF G TFHiae TEAT A a7 TFiah
T 98 §Ear 87

Options:
1. « 147
2 % 103
3. 0w 144
A = 106
Arithmetic Ability?2
Group Number : 6
Group Id : 50964797
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time: 0

Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability?2

Section Id : 509647257

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 509647373
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5096477891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The selling price of an article is ¥ 150. Find the profit percentage, if the cost price of the article is 82.5% of the selling
price.

Options:

1. = 22.21%

P % 23.21%

3. ¢ 21.21%

A % 2021%

Question Number : 101 Question 1d : 5096477891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T IE] F G H{od 94 150 g1 I avg # o qo7 wmw qea v 82.5% g, ar ot wiona
T |

Options:




1. = 22.21%

2 % 2321%

3. v 21.21%

4. % 20.21%

Question Number : 102 Question Id : 5096477892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the profit percent made by selling an article at a certain price, if, by selling the article at 3/4 of that price, there
may be a loss of 10%?

Options:
1. = 10%

7 % 30%

3 v 20%

A = 60%

Question Number : 102 Question Id : 5096477892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg frelt g & ve ARTT qew F 3/4 W AT A E, A 10% H gl A, A sH I B 0w
AT 77 W a9 T fFaar e fAeem?

Options:

1. = 10%



2 % 30%

3. v 20%

4. = 60%

Question Number : 103 Question 1d : 5096477893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper increased the price of an article by 45% and later on he reduced the price by 45%. His percentage of loss
is:

Options:
1. & 0%

7 @ 20.25%

3. % 2.025%

A % 100%

Question Number : 103 Question Id : 5096477893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ve GHFACR U TEg 1 Hed 45% a1 & § 3N a1 #, 30 IFg F HAed 45% FH T & gl uar
ﬁﬁ:aﬁﬁmﬁﬁmgﬁgﬁ%

Options:

1. = 0%

2. ¢ 20.25%



3. % 2.025%

4. = 100%

Question Number : 104 Question Id : 5096477894 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper earns a profit of 24% on selling a book at 20% discount on the marked price. The ratio of the cost price
and the marked price of the book is:

Options:

1 = 6:5
7 « 20:31
3. 0% 31:20

Question Number : 104 Question 1d : 5096477894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh GHTIGR & TEAh Fl THR Hod W 20% H TT o 99 W 24% T o1 gl Zl I & e
AT 3R 9N A5 FT HFIS T4

Options:
1. = 6:5
2 ¢ 20 : 31



Question Number : 105 Question Id : 5096477895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Raman purchased a mobile phone marked at Rs. 12000 at successive discounts of 15% and 20% respectively. He spent

Rs. 340 on packaging and sold the mobile phone for Rs. 12000. Find his gain percentage (upto two decimals).
Options:

1. % 42.17%

7« 41.18%

3. % 43.17%

A % 44.17%

Question Number : 105 Question Id : 5096477895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T T912000 & 3ifeha Hew arer AEET B & FA 15% AN 20% 1 HEe g | TS &l
I% YFTEeT 9T T9F 340 T AT § T 37 AGsT B 9T 12000 F 97 4T g, FHH oH
gicerd 9ar & (87 gUHed d)|

Options:

1. % 42.17%

2. v 41.18%

3. % 43.17%



4. % 44.17%

Question Number : 106 Question Id : 5096477896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At what rate of interest per annum will the simple interest on a sum of money be 14/25 of the principal amount in 14
years?

Options:

1. = 2%

? #% 3%

3 v 4%

4 = 1.5%

Question Number : 106 Question Id : 5096477896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v T I R wRer s fadr aifes se &Y 9 14 FST H AFed & 14/25 & e

Options:

1. = 2%
2w 3%
3. v 4%
4. = 1.5%

Question Number : 107 Question Id : 5096477897 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Avinash deposited Z 46800 in fixed deposit at the rate of 10% simple interest per annum. After every second year, he
added his interest earnings to the principal. The total interest earned during the four-year period would then be:

Options:
1. ¢ 20592

7 % 19592

3. % 21592

4. % 22592

Question Number : 107 Question Id : 5096477897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hiarer & 10% Hr e FTYRCT S &7 W T9F 46800 #r T fhes Boifee & 717 #11 & gW
T§ TE TS F oA HHSAT T HAUA H AT I ¢ IS IR T H FHY 390 F For e =7
T B

Options:

1. v 20592
2 % 19592
3w 21592
A = 22592

Question Number : 108 Question Id : 5096477898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the rate percent and time needed, both of them being equal in value, for the simple interest on a certain sum to
be 36 over 100 of that sum?

Options:



1. » Rate=5%, Time =35 years

2 x Rate=7%, Time=7 years

3 o Rate=6%, Time = 6 years

4. » Rate=8%, Time = 8 years

Question Number : 108 Question Id : 5096477898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v AfREa ofr F 9f3 100 W 36 AURT =O 9o = F e ¥ g AR g e g
R, eIT W T giaea 3 g7y 3t sey @ wfgv)

Options:

1. = ®

5%, @Y = 5 9¥

7%, AT =7 a9

4

2. %

3. » & =6%, TAT =6 Y

4. » T =8%, THAT =8 a¥

Question Number : 109 Question 1d : 5096477899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The difference between the simple and the compound interest on a certain sum of money for 3 years at 10% p.a is Rs.

77.50. Find the sum.
Options:

1. = 4750



7 % 2250

3. % 5000

A » 2500

Question Number : 109 Question Id : 5096477899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v AT UfEr o7 10% i 2T & 3 IuT F JrumoT =3 3 8T s =7 397 $77.50 g1 ufEr

T F|
Options:
1. = 4750
2 % 2250
3 % 5000
4. v 2500

Question Number : 110 Question Id : 5096477900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the compound interest on ¥ 31250 for 9 months at 16% per annum when the interest is calculated quarterly.
Options:
1. = 3900

7w 3902



3. % 3800

4. = 3802

Question Number : 110 Question Id : 5096477900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T SOT=T &Y 0T HEr 97 i T, 3 16% IS T ¥ 9 FEEr ¥ T 31250 FHr ufer ov Afam

ST T 1|
Options:

1. = 3900
2. v 3902
3. = 3800
A4 % 3802

Question Number : 111 Question Id : 5096477901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The radius and the height of a right circular cylinder are 0.14 m and 0.21 m respectively. Find its volume (in cu.cm.).

Options:
1. & 12369

7 % 12639

3.« 12936



A % 12969

Question Number : 111 Question Id : 5096477901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o FoahR dele H ¥ear 3R FEe FF: 0.14 m 3R 0.21 m &1 SHHT WA (cu.cm. H) TaT FH|

Options:

1. % 12369
2 % 12639
3.« 12936
A4 % 12969

Question Number : 112 Question Id : 5096477902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

: : ; . g i ; ; e : , g
The sides of a triangle are in the ratio of S and its perimeter is 718 cm. Find the length of its longest side in
metre.

Options:
1. ¢ 2.86

7 % 286

A = 143

Question Number : 112 Question Id : 5096477902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



v e # oo S = = F 3a A R sHer IRAT 718 om B S TR S oo A
T H o= 9ar i

Options:
1. v 2.86
2 % 286
3. % 143
4. = 143

Question Number : 113 Question Id : 5096477903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of the length of each equal side and the third side of an isosceles triangle is 5 : 6. If the area of the triangle is
111664 sq.cm.. then the length of the third side (in cm) is:
Options:

1. «+ 18

Question Number : 113 Question Id : 5096477903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v FHECfaag s F Tolw ST ST AR A g H AR F OGS 5:6 31 A gt
8IS /11664 sq.cm. §, @ G ST H WIS (cm H) I4T FE

Options:



Question Number : 114 Question Id : 5096477904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rishi can finish 1/4™ of a certain work in 26 days. Rakesh can finish 9/20™ of the same work in 18 days. Rustum can

finish 2/3 of the same work in 48 days. Who will complete the work first?
Options:
1. ® Rustum

? % Rishi

3. « Rakesh

/. % Both Rishi and Rustum

Question Number : 114 Question Id : 5096477904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%Y T I F 1/4 Ewr 26 RS F 0 FAT 1 T 6 F F9/20 wwr 18 RE F 7 Far
& TEIH ST FH T 2/3 BT 48 R F [ AT §| TEA FH BT T HE?

Options:

1. =« TFAH



3. v WA

4« F® IR TEIH g4l

Question Number : 115 Question 1d : 5096477905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can finish a piece of work in 36 days and B in 72 days. They begin the work together, but A leaves 6 days before the
completion of the work. In how many total days the complete work will be done?

Options:
1. = 24

? w% 16

3 = 26

4« 28

Question Number : 115 Question Id : 5096477905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TF F14 F 36 A # AR B 72 A #F 9 T Bl T TH-HIT FH FA Y A g, oA A FH
T B T 6 o uger 1 oI &1 g1 9T = T Ow w fhaer A # 9@ geme

Options:




4, v 28

Question Number : 116 Question Id : 5096477906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person crosses 4200 m long bridge in 25 minutes. Find his speed in kmph:
Options:
1. = 10.80

7« 1008
3. % 9.08

A % 11.08

Question Number : 116 Question Id : 5096477906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ue ShfFd 4200 m FET G 25 e # 9 Far g1 3 A kmph F 94T FX

Options:

1. = 10.80

2. « 10.08

3. % 9.08



4. % 11.08

Question Number : 117 Question Id : 5096477907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sudha and Kavitha start moving on a bicycle towards each other at 5 am with the speeds of 14 kmph and 16 kmph
respectively. They were 45 km apart at the starting point for both. At what time would they meet?

Options:
1. = 6.30 pm

? % 7.30am

3. « 6.30am

4 = 7.30 pm

Question Number : 117 Question Id : 5096477907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ger X FFar gag 5 7= AW 14 kmph 3T 16 kmph # oifd & FEFa T THGAL H TWE A=
UF FA El T UH-ZEL F I g F 45 km T §1 T THgW ¥ FF wEG FHeEm?

Options:

1. = 6.30 pm

2 = 7.30 am

3. v 6.30 am

A, = 7.30 pm



Question Number : 118 Question Id : 5096477908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The speeds of two brothers P and Q are in the ratio of 6 : 7. P takes 40 minutes more than Q to reach their home. How
long does P take to reach home?

Options:

2
1.‘*’5’? 45}1?"

Question Number : 118 Question Id : 5096477908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g st P 3k Q # f &7 e 6:7 81 P, Q ¥ 40 Awe 91g WX 9gwar 81 P # W A
fora=T @HT o9 ar 22
Options:

2
1_ W 451;1?”

5 3§h’r
1

3. % ‘q‘EhT

4 * lgh?"

Question Number : 119 Question Id : 5096477909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following table and answer the questions based on it.

Expenditures of a company (in lakh rupees) per annum over the given years.

Item of Expanditure

Year Vartous

Salary Transportation Bonus Loan interests types of
taxes
2008 576 196 600 46.8 166
2009 634 24 504 B5.0 216
200 548 202 763 8az 148
2011 | 672 - 266 . 736 . 728 . 176
2012 . 840 - 284 . Ta2 . 58.8 156

The total amount of bonus paid by the company during the given period is approximately what percent of the total
amount of salary paid during this period?

Options:

1. = 2.5%

7w 3.59%

3. % 1.25%

4 v 1%

Question Number : 119 Question Id : 5096477909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A & 2 aiferer &7 T F 3T =7 9T smenfg weAt # 39X &1 U F9er T 9eed Iur H
gfoay =T (9@ 94t H)|

T T g
T fafiyes
aaa ZoTs S | WO S |y ay
2008 576 196 5.00 46.5 166
2009 684 224 5.04 65.0 216
2010 645 202 768 8§32 148
2011 672 266 7.36 728 176
2012 840 284 792 98.8 196

FIAT EERT Feod A F Gr mar e dew, 39 Y 7 Ry v Fo 397 # faer gfoera o

Options:
1. = 25%
2 % 35%
3. % 125%
4. v 1%

Question Number : 120 Question Id : 5096477910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following table and answer the questions based on it.

Expenditures of a company (in lakh rupees) per annum over the given years.

Item of Expenditiine
Year [ [ [ [ Various
Salary Transportation Bonus Loan interests types of
taxes
2008 576 196 6.00 468 166
2009 684 224 5.04 650 216
20 648 202 768 832 148
2011 672 266 7.36 728 176
2012 840 284 7492 968 156

Find the ratio between the total expenditure on various types of taxes and total expenditure on transportation for all the
years.

Options:
1. « 451:586

7 % 586:451

3% 1:1

A = 2:3

Question Number : 120 Question Id : 5096477910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Arr & 2 e F T F1 3HR 57 ox 3mfiE weAT FT 3ea% &1 UF FUeT &7 Weod Iur H
gy =T (9 94 #H)|

=T FT =T
T§ Fafiresy
aa gome WA | HOT S | oo
2008 576 196 &.00 46.8 166
2009 684 224 2.04 65.0 216
2010 648 202 7.68 832 148
201 672 266 7.36 728 176
2012 840 284 7.92 98.8 196

Tl et 7 Rffes 997 F = W g T TF IR gIR W FA T H IS TA FH
Options:

1. « 451 : 586

2 % 586 : 451

3 o0x 1:1
4 = 2:3
General Englishi
Group Number : 7
Group Id: 50964798
Group Maximum Duration : 0
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Show Attended Group? : No



Edit Attended Group? : No
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Group Marks: 20
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Question Number : 121 Question 1d : 5096477911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

An excited group of school boys had to watch the
match.

Options:

1. = mobilized
2. v gathered
3. = amassed
4. » combined

Question Number : 121 Question 1d : 5096477911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate word.

An excited group of school boys had to watch the

match.

Options:

1. = mobilized
2. v gathered
3. ® amassed

4. = combined

Question Number : 122 Question Id : 5096477912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

The episodes of the television serial played upon the
of the viewers to know what happened next.

Options:

1. = apathy

2. » casualness
3. = deference
4. v eagerness

Question Number : 122 Question Id : 5096477912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

The episodes of the television serial played upon the

of the viewers to know what happened next.

Options:



1. = apathy

2. = casualness
3. # deference
4,

v eqaderness

Question Number : 123 Question Id : 5096477913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

One of the men in the moving bus was wildly to catch
the attention of passers-by.

Options:

1. v gesticulating
2. = mentioning
3. # Interpolating
4. = declaring

Question Number : 123 Question Id : 5096477913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

One of the men in the moving bus was wildly to

catch the attention of passers-by.

Options:

1. v gesticulating
2. ® mentioning

3. = Interpolating
4

. % declaring



Question Number : 124 Question 1d : 5096477914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word.

She is an mother, she lets her child do what she wants
without correcting her too much.
Options:

1. = aggressive

2. » authoritarian
3. v Indulgent

4. = Intimate

Question Number : 124 Question 1d : 5096477914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate word

She Is an mother, she lets her child do what she

wants without correcting her too much.

Options:

1. = aggressive
2. ® authoritarian
3. v Indulgent

4. = Intimate

Question Number : 125 Question Id : 5096477915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct meaning of the idiom given.

Get into a huddle.

Options:



1. v Gather together privately to plan something
2. = Collect something which has fallen down

3. » Wander away into a dirty muddy place

4. = Fall into bad company

Question Number : 125 Question Id : 5096477915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct meaning of the idiom given.

Get into a huddle.

Options:

1. v (Gather together privately to plan something
2. » Collect something which has fallen down

3. *» Wander away Iinto a dirty muddy place
4,

= Fall into bad company

Question Number : 126 Question Id : 5096477916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

sun was worshipped by many ancient Kings as
all-seeing god.

Options:

1. = An, the
2.« The, an
3. = The, a
4 = A,a

Question Number : 126 Question Id : 5096477916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

sun was worshipped by many ancient kings as

all-seeing god.

Options:

1. = An, the
2. v The, an
3. = The, a
4. = A | a3

Question Number : 127 Question Id : 5096477917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

They fought not only with bravery with confidence.

Options:

1. = also
2. # hut even
3. % even
4. v hut also

Question Number : 127 Question Id : 5096477917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

They fought not only with bravery with confidence.

Options:

1. = also



2. % but even
3. % even

4. v but also

Question Number : 128 Question Id : 5096477918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Today, travelling has increased means of
communication and places to stay are easier to find than they
formerly were.

Options:

1. v since

2. = although
3. = but

4. = however

Question Number : 128 Question Id : 5096477918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Today, travelling has increased means of
communication and places to stay are easier to find than

they formerly were.

Options:

1. v since
2. % although
3. = but



4. = however

Question Number : 129 Question Id : 5096477919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

My mobile phone is although I paid much less for it.

Options:

1. = best than his

2. # better than him
3. v better than his
4. = bhest than him

Question Number : 129 Question Id : 5096477919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

My mobile phone Is although | paild much less

for It.

Options:

1. = best than his

2. % better than him
3. ¢ better than his

4. = best than him

Question Number : 130 Question Id : 5096477920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

Everyone who was present at the rally approval by

enthusiastic applause.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. showing their
2. shows his

3. showing his
4. show their

Question Number : 130 Question Id : 5096477920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

Everyone who was present at the rally approval by

enthusiastic applause.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. showing their
2. shows his

3. showing his
4. show their

Question Number : 131 Question Id : 5096477921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the grammatically correct option to fill in the blanks.

The children, had been playing outside in the sun, were
called back indoors by their parents.

Options:

1. v who
2. » what
3. = whom
4. = which

Question Number : 131 Question Id : 5096477921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct option to fill in the blanks.

The children, had been playing outside In the sun,

were called back indoors by their parents.

Options:

1. v who
2. = what

3. * whom

4. = which

Question Number : 132 Question Id : 5096477922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that gives the correct passive form of the
given sentence.

Someone has stolen my passport.

Options:

1. v My passport has been stolen.



2. = My passport is being stolen.
3. » My passport will be stolen by someone.
4. = My passport may have been stolen by someone.

Question Number : 132 Question Id : 5096477922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that gives the correct passive form of the

given sentence.

Someone has stolen my passport.

Options:

1. v My passport has been stolen.

2. » My passport Is being stolen.

3. = My passport will be stolen by someone.
4,

* My passport may have been stolen by someone.

Question Number : 133 Question Id : 5096477923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that fills in the blanks with the correct
prepositions.

It would be foolish to shut our eyes the dangers
the pollution that man causes.

Options:

1. = on, by
2. = for, to
3. = from, at
4, v 1o, of

Question Number : 133 Question Id : 5096477923 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the option that fills in the blanks with the correct

prepositions.

It would be foolish to shut our eyes the dangers

the pollution that man causes.

Options:

1. = on, by
2. = for, to
3. = from, at

4. v to, of

Question Number : 134 Question Id : 5096477924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct Indirect form of the given sentence.

Sheila asked, “Should I go there?”

Options:

1. = Sheila asked if I can go there.

2. v Sheila asked whether she should go there.
3. » Sheila asked whether she is going there.
4. = Sheilla asked if I am going there.

Question Number : 134 Question Id : 5096477924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct Indirect form of the given sentence.

Sheilla asked, “Should | go there?”

Options:



1. = Shella asked iIf | can go there.

2. v Shella asked whether she should go there.
3. = Shella asked whether she i1s going there.
4,

» Shella asked If | am going there.

Question Number : 135 Question Id : 5096477925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct option to fill in the blanks.

boys in my class last year.

Options:

1. = That, is

2. v These, were
3. = Those, are
4, = This, was

Question Number : 135 Question Id : 5096477925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the correct option to fill in the blanks.

boys In my class last year.

Options:

1. = That, Is

2. v These, were
3. = Those, are
4. = This, was

Question Number : 136 Question Id : 5096477926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Gliven below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. who Is In sublime form

B. since the last World Cup in 2015
C. Rohit is another player

D. and has remained consistent.

Options:

1. v CADB
2. » DBAC
3. = CDAB
4. = BACD

Question Number : 136 Question 1d : 5096477926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. who 1s In sublime form
B. since the last World Cup in 2015
C. Rohit is another player

D. and has remained consistent.

Options:

1. v CADB
2. = DBAC
3. = CDAB



4. = BACD

Question Number : 137 Question Id : 5096477927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. crossed the coast

B.in 1971

C. a severe cyclonic storm
D. near Paradeep

Options:

1. = DBAC
2.» ACDB
3.v BCAD
4.« BACD

Question Number : 137 Question Id : 5096477927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. crossed the coast
B. in 1971
C. a severe cyclonic storm

D. near Paradeep

Options:



1. = DBAC

2. = ACDB
3. v BCAD
4. = BACD

Question Number : 138 Question Id : 5096477928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. to open in the area

B. was the first pickle store
C. this store

D. about 14 years ago

Options:

1. = DACB
2. v CBAD
3. = BCAD
4. = CDAB

Question Number : 138 Question Id : 5096477928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. to open In the area

B. was the first pickle store
C. this store

D. about 14 years ago

Options:

1. = DACB
2. v CBAD
3. = BCAD
4. = CDAB

Question Number : 139 Question 1d : 5096477929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. just as the traditional houses
B. the unique resort is entirely
C. In Himachal are

D. of wood, stones, and mud

Options:

1. = CADB



2. v BDAC
3. = BADC
4.« ADCB

Question Number : 139 Question Id : 5096477929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. Just as the traditional houses
B. the unique resort I1s entirely
C. In Himachal are

D. of wood, stones, and mud

1p. = CADB
2. v BDAC
3. = BADC
4. = ADCB

Question Number : 140 Question 1d : 5096477930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Gliven below are four segments of a sentence. Select the option
that gives the correct order of the segments to form a logical
sentence.

A. To the concerned
B. The matter

C. Secretary in the Ministry
D. Will be referred

Options:

1. = ACDB
2. ABCD
3. = BACD
4. v BDAC

Question Number : 140 Question Id : 5096477930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are four segments of a sentence. Select the
option that gives the correct order of the segments to form

a logical sentence.

A. To the concerned

B. The matter

C. Secretary in the Ministry
D. Wil be referred

Options:

1. = ACDB
2. = ABCD
3. = BACD



4. v BDAC

General English?
Group Number : 8
Group ld: 50964799
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English2

Section Id : 509647259

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647375
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 5096477931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The prospect of having a lot of riches appears to many people
a condition of unimaginable felicity.

Options:

1. * Confusion
2. v Joyfulness



3. » Muddle
4. = Simplicity

Question Number : 141 Question Id : 5096477931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The prospect of having a lot of riches appears to many

people a condition of unimaginable felicity.

Options:

1. = Confusion

2. v Joyfulness

3. = Muddle
4, = Simplicity

Question Number : 142 Question 1d : 5096477932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

As the sea was turbulent fishermen were advised not to take
their boats out.

Options:

1. = peaceful

2. v stormy
3. # serene
4. = placid

Question Number : 142 Question 1d : 5096477932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

As the sea was turbulent fishermen were advised not to

take their boats out.

Options:

1. = peaceful
2. v stormy
3. * serene
4. = placid

Question Number : 143 Question Id : 5096477933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Rita played an ignoble part in the whole unpleasant episode.

Options:

1. » Honorable
2. # Decent

3. » Illegal

4. v Shameful

Question Number : 143 Question 1d : 5096477933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Rita played an ignoble part in the whole unpleasant episode.

Options:

1. = Honorable



2. = Decent
3. = lllegal
4. v Shameful

Question Number : 144 Question 1d : 5096477934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Have you no qualms about telling the teacher a lie?

Options:

1. = Requests
2. = Appeals
3. v Doubts
4. = Demands

Question Number : 144 Question Id : 5096477934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Have you no qualms about telling the teacher a lie?

Options:

1. = Requests
2. * Appeals
3. v Doubts

4. = Demands

Question Number : 145 Question Id : 5096477935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the underlined word.

The boy gave a preposterous excuse for not bringing his book.

Options:

1. v Absurd
2. » Earlier

3. = Previous
4. = Preceding

Question Number : 145 Question Id : 5096477935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The boy gave a preposterous excuse for not bringing his
book.

Options:

1. v Absurd

2. % Earlier
3. * Previous

4. = Preceding

Question Number : 146 Question Id : 5096477936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The timid child closed his eyes when the fight began.

Options:

1. » Coy
2. v Bold



3. = Hesitant
4. = Fearful

Question Number : 146 Question Id : 5096477936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

The timid child closed his eyes when the fight began.

Options:

1. = Coy
2. v Bold
3. * Hesitant
4. = Fearful

Question Number : 147 Question Id : 5096477937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

His views on the current crisis appear to be candid and
unbiased.

Options:

1. = Forthright
2. » Unknown
3. v Guarded
4. = Blunt

Question Number : 147 Question Id : 5096477937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate antonym of the underlined word.

His views on the current crisis appear to be candid and

unbiased

Options:

1. = Forthnight

2. = Unknown
3. v QGuarded
4. = Blunt

Question Number : 148 Question Id : 5096477938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

In her typical jovial manner my aunt welcomed me when I
went to see her.

Options:

1. v Miserable
2. » Cheertful
3. = Bright

4. = Brash

Question Number : 148 Question Id : 5096477938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

In her typical Jovial manner my aunt welcomed me when |

went to see her.

Options:



1. v Miserable
2. * Cheerful
3. = Bright
4. = brash

Question Number : 149 Question Id : 5096477939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word

The number of independent houses in the colony has
dwindled in the last five years.

Options:

1. = ruined

2. = decayed
3. v grown
4. = spoilt

Question Number : 149 Question Id : 5096477939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word

The number of independent houses in the colony has

dwindled in the last five years.

Options:

1. = ruined

2. » decayed
3. v grown
4

. % spollt



Question Number : 150 Question Id : 5096477940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Children aggravate me when they are noisy and loud.

Options:

1. = anger

2. ® exasperate
3. % Iirritate
4. v encourage

Question Number : 150 Question Id : 5096477940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the underlined word.

Children aggravate me when they are noisy and loud.

Options:

1. = anger
2. ® exasperate
3. = Irritate
4

. ¥ encourage

Sub-Section Number: 2
Sub-Section 1d: 509647376
Question Shuffling Allowed : Yes

Question Id : 5096477941 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension









Sub questions

Question Number : 151 Question Id : 5096477942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage is mainly about:

Options:

1. = Water shortage due to environmental changes

2. v Global development and its impact on water scarcity
3. = Inefficient use of water by some people

4. = Dwindling water resources in natural water bodies

Question Number : 152 Question Id : 5096477943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uncontrolled water use for agriculture or industry causes:

Options:

1. v economic water scarcity
2. = seasonal water scarcity
3. = polluted water supply
4. = physical water scarcity

Question Number : 153 Question 1d : 5096477944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The writer states that the most significant reason for
economic water scarcity is that:

Options:

1. = these areas are too densely- populated and the
consumption is high

2. = there is water pollution due to developing industries
3. v people do not realize that water is a finite resource
4. = they have no rainfall and hence there is no ground water

Question Number : 154 Question Id : 5096477945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Through the example of Mexico City the author wants to
show that:

Options:

1. v Mismanagement of available water resources causes a
scarcity

2. *» Inadequate rainfall adversely affects large cities
3. » Large-scale city expansion has affected the environment

4. = Large-scale population growth results in unequal
distribution of the available water

Question Number : 155 Question Id : 5096477946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

We can infer from the passage that the author is advocating:

Options:

1. = River and lake water purification

2. v Saving natural resources through economic measures
3. » Practicing population control measures

4. = Building cities using sustainable materials

Question Id : 5096477941 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the questions given below it.

Water scarcity is inextricably linked to human rights, and
sufficient access to safe drinking water is a priority for
global development. However, given the challenges of
population growth, profligate use, growing pollution, and
changes in weather patterns due to global warming, many
countries and major cities worldwide, both wealthy and poor,
faced increasing water scarcity in the 271st century.

There are two general types of water scarcity: physical and
economic. Physical, or absolute, water scarcity is the result
of a region’s demand outpacing the limited water resources
found there. According to the Food and Agricultural
Organization (FAQ) of the United Nations, around 1.2 billion
people live in areas of physical scarcity; many of these
people live in arid or semi-arid regions. Physical water
scarcity can be seasonal; an estimated two-thirds of the
world’s population lives in areas subject to seasonal water
scarcity at least one month of the year. The number of
people affected by physical water scarcity is expected to
grow as populations increase and as weather patterns
become more unpredictable and extreme.

Economic water scarcity is due to a lack of water
infrastructure in general or to the poor management of
water resources where infrastructure is in place. The FAO
estimates that more than 1.6 billion people face economic
water shortage. In areas with economic water scarcity, there
usually is sufficient water to meet human and environmental
needs, but access is limited. Mismanagement or
underdevelopment may mean that accessible water is
polluted or unsanitary for human consumption. Economic
water scarcity can also result from unregulated water use
for agriculture or industry, often at the expense of the
general population. Finally, major inefficiencies in water use,
usually due to the economic undervaluing of water as a
finite natural resource, can contribute to water scarcity.
Often, economic water scarcity arises from multiple factors
in combination. A classic example of this is Mexico City,
home to more than 20 million people in its metropolitan
area. Although the city receives abundant rainfall, averaging
more than 700 mm (27.5 inches) annually, its centuries of
urban development mean that most precipitation is lost as
contaminated runoff in the sewer system. In addition,
elimination of the wetlands and lakes that once surrounded
the city means that very little of this precipitation feeds back

into local aquifers.



Sub questions

Question Number : 151 Question Id : 5096477942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage I1s mainly about:

Options:

1. = Water shortage due to environmental changes
2. v Global development and its impact on water scarcity
3. # Inefficient use of water by some people

4. = Dwindling water resources in natural water bodies

Question Number : 152 Question Id : 5096477943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uncontrolled water use for agriculture or industry causes:

Options:

1. v economic water scarcity
2. » seasonal water scarcity
3. = polluted water supply

4. = physical water scarcity

Question Number : 153 Question Id : 5096477944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The writer states that the most significant reason for

economic water scarcity Is that:

Options:

1. = these areas are too densely- populated and the

consumption Is high
2. % there is water pollution due to developing industries

3. v people do not realize that water 1s a finite resource



4. = they have no rainfall and hence there i1s no ground

water

Question Number : 154 Question Id : 5096477945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Through the example of Mexico City the author wants to

show that:

Options:

1. v Mismanagement of available water resources causes a

scarcity
2. »= |Inadequate rainfall adversely affects large cities
3. = Large-scale city expansion has affected the environment

4. = |Large-scale population growth results in unequal

distribution of the available water

Question Number : 155 Question Id : 5096477946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

We can Iinfer from the passage that the author is advocating:

Options:

1. = River and lake water purification
. v Saving natural resources through economic measures

2
3. = Practicing population control measures
4

* Building cities using sustainable materials

Sub-Section Number: 3
Sub-Section Id: 509647377
Question Shuffling Allowed : Yes

Question Id : 5096477947 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Question Label : Comprehension



Read the passage and answer the questions given below it.

When Sujan had made no progress even after three years,
Haran the schoolteacher went to Dibakar’s shop and told him,
‘Not even the gods will be able to give your son an education.
My suggestion is that you withdraw him from school. It’s just
bhad luck—why else would your son have turned out this
way? So many other boys are going to school and doing so
well’

Dibakar had no choice but to call his son and ask, “‘What have
you learnt at the pathshala in all this time?’

Tve learnt the call of twenty-two different birds, Baba,” Sujan
told him. ‘There’s a banyan tree behind our pathshala and all
sorts of birds are to be found in it”’

‘Do you want to be a mimic then—a harbola?

‘A harbola? What's that?”

‘Harbolas can imitate the sounds of different birds and
animals. They make a living by performing their mimicry for
audiences. Since you've made no headway with studies, you
won'’t be able to run the shop—you don’t even know how to
add numbers. You’re of no use to me.’

So Sujan devoted himself to becoming a harbola. His favourite
pastime was to wander about the fields and woods, listening
closely to the cries of birds and beasts and imitating them. He
never tired of this, for he was quite healthy and could walk
long distances, climb trees and swim. When the birds
responded to his cries by calling back, his heart danced in
delight. All the birds seemed to be his friends. He had
mastered the cries of cows and calves and sheep and goats too
by listening to them closely in the fields. They too answered
his cries when he imitated them. His mooing brought the old
crone Nistarini out of her hut. Nistarini was under the
impression that Dhabhali’s calf had returned unexpectedly.
Moti the washerman’s ass craned his neck and pricked up his
ears, braying in response to Sujan’s brays, wondering where
this other donkey had arrived from. Sujan could also mimic
the neighing of the horse; he emitted this call outside the
Haldars’, who were the zamindars’ house. Hearing Sujan,
Karim miyan, the groom asked himself, if that’s not my horse,
whose horse is it?



Sub questions

Question Number : 156 Question Id : 5096477948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following could Sujan NOT do well?

Options:

1. = Swim

2. » Walk long distances
3. v Add numbers

4. = Climb trees

Question Number : 157 Question Id : 5096477949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage is mainly about:

Options:

1. = Rare birds and their unusual calls
2. v A person’s talent and his desire to do what he likes

3. = Childrens’ inability to study all school subjects equally
well

4. = Less- known arts and careers

Question Number : 158 Question Id : 5096477950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Whom did Sujan NOT confuse by his art?

Options:

1. = Moti

2. » Nistarini

3. » Karim Miyan
4. v Haran

Question Number : 159 Question Id : 5096477951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What bad luck was the teacher referring to with respect to
Sujan?



Options:

1. v his inability to study

2. = his getting low marks

3. # his failing in Math

4. = his not doing his homework

Question Number : 160 Question Id : 5096477952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT true about this passage?

Options:

1. = The harbola can also earn money by his art.

2. » Sujan’s father did not force him to go back to school.
3. v Syjan imitated only the sounds of birds.

4. = Birds and animals were like Sujan’s friends

Question Id : 5096477947 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage and answer the questions given below It.
When Sujan had made no progress even after three years,
Haran the schoolteacher went to Dibakar’s shop and told
him, ‘Not even the gods will be able to give your son an
education. My suggestion is that you withdraw him from
school. It’s just bad luck—why else would your son have
turned out this way? So many other boys are going to
school and doing so well’

Dibakar had no choice but to call his son and ask, ‘What
have you learnt at the pathshala in all this time?’

‘I've learnt the call of twenty-two different birds, Baba,’
Sujan told him. ‘There’s a banyan tree behind our pathshala
and all sorts of birds are to be found in it.’

‘Do you want to be a mimic then—a harbola?’

‘A harbola? What's that?’

‘Harbolas can imitate the sounds of different birds and
animals. They make a living by performing their mimicry for
audiences. Since you've made no headway with studies, you
won’t be able to run the shop—you don’t even know how to
add numbers. You'’re of no use to me.’

So Sujan devoted himself to becoming a harbola. His
favourite pastime was to wander about the fields and
woods, listening closely to the cries of birds and beasts and
Imitating them. He never tired of this, for he was quite
healthy and could walk long distances, climb trees and
swim. When the birds responded to his cries by calling
back, his heart danced in delight. All the birds seemed to
be his friends. He had mastered the cries of cows and
calves and sheep and goats too by listening to them closely
in the fields. They too answered his cries when he imitated
them. His mooing brought the old crone Nistarini out of her
hut. Nistarini was under the impression that Dhabali’s calf
had returned unexpectedly. Moti the washerman’s ass
craned his neck and pricked up his ears, braying In
response to Sujan’s brays, wondering where this other
donkey had arrived from. Sujan could also mimic the
neighing of the horse; he emitted this call outside the
Haldars’, who were the zamindars’ house. Hearing Sujan,
Karim miyan, the groom asked himself, if that’s not my

horse, whose horse Is it?



Sub questions

Question Number : 156 Question Id : 5096477948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following could Sujan NOT do well?

Options:

1. = Swim

2. » Walk long distances
3. v Add numbers

4. = Climb trees

Question Number : 157 Question Id : 5096477949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This passage I1s mainly about:

Options:

1. = Rare birds and their unusual calls
2. v A person’s talent and his desire to do what he likes

3. = Childrens’ inability to study all school subjects equally

well

4. = Less- known arts and careers

Question Number : 158 Question Id : 5096477950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Whom did Sujan NOT confuse by his art?

Options:

1. = Moti
2. = Nistarini
3. = Karim Miyan

4. v Haran



Question Number : 159 Question Id : 5096477951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What bad luck was the teacher referring to with respect to

Sujan?
Options:

1. v his nability to study

2. = his getting low marks

3. = his failing in Math

4, = his not doing his homework

Question Number : 160 Question Id : 5096477952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following 1s NOT true about this passage?

Options:

1. = The harbola can also earn money by his art.
2. % 3Sujan’s father did not force him to go back to school.
3. v Sujan imitated only the sounds of birds.

4. = Birds and animals were like Sujan’s friends
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General Hindi1l

Section Id : 509647260

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 509647378
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5096477953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BIATATEITL DI § RTddTer SIGT G 51 31 T # MY FAT e, Pl
e B

Options:

1. = STl

Question Number : 161 Question Id : 5096477953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BRERGIc $egd H RieRTel ST ST &gl &1 arerd # 39
Tl eeg hT HL &

Options:

1. % STdTe
2. v U
3. % 3ca¥ Tem

4. = geaT AT

Question Number : 162 Question Id : 5096477954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt <o & UTT Ig db Ag1’] 39 aTaT § Tol” SIec, BT 37 3




Options:

1. * T4g
2. % TaT

3.v0g
4, = Td

Question Number : 162 Question Id : 5096477954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ ZoT & UTH HIs oo el 39 aFg H Tol e T 379
8

Options:

1. = OHg
2. % Tcdl
3. v T&

4. % gd

Question Number : 163 Question Id : 5096477955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS gD FHT IS HA T g & o7 Tep e gl

Options:

1. = 3T
2. v AT
3. = UG
4. = YT

Question Number : 163 Question Id : 5096477955 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Toresr HATT $lg qET of &' & ToIv Teh eleq g

Options:

1. = Haled

2. v fead




3. » 3R
4. = 9UiHT

Question Number : 164 Question 1d : 5096477956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TI-Tea sreegm & g U gree g

Options:
1. » §&g - TgT
2. % Tolal - USH
3. v Hlgl - §&g
4, = 38T - MY

Question Number : 164 Question Id : 5096477956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FI-5T eeeyIA F AV oF ereg g

Options:

1. = g7 - =T
2. % Tololl - USchal
3. v ©IsT - g6
4. = 37eF - I

Question Number : 165 Question Id : 5096477957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

My REa amardl § § ‘GaHT SIe¢, @ 31 1SN gIT AT MXefen g T 37

1.%@@1 gedr gl

2. v IR ¥ YSit g TSl

3. * T gordT I T 81

4. * Sie-ILdT Bl od-Jald U T g1 el Tl

Question Number : 165 Question Id : 5096477957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




fArafaf@a aral # @ gaar oreg &7 377 aArer gler AT faveieh
2T frad &7

Options:

1. » §IoT Zac gl

2. meﬁﬁ”jrga?rél

3. » f&ef gaar <7 @ &l

4. » SEe-FRAT HT FFA-3d I FT 8T ol

Question Number : 166 Question Id : 5096477958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘¥ IghT TN B YEH g1 39 Uich # @iThd U<, g

Options:

1. v Ga=H

2. % TAT (FTerer=il)
3. = faQwu

4. % TopaT Tersryur

Question Number : 166 Question Id : 5096477958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3 ST AT HT UREF g1 5E Ufkd # @R U

1. v GdeTH

2. * AT (ATGa=)
3. = fgeyor

4. = foRaT ewor

Question Number : 167 Question 1d : 5096477959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UEd ¥ §B UST g3 g'1 a1 H W@ilehd U< g

Options:

1. » TIaTd GO0




2. * THeIgaTd ga-TH
3. v AFEIATIH G-TH
4, * TEYCTAh FeA-TH

Question Number : 167 Question Id : 5096477959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Wﬁ;ﬂwgm%’lmﬁmﬁﬁﬁﬁ:

1. % YeaTdi<eh HdelTH
2. % ToTeTIaraer ToelTH

3. v MTaeaaar<re dd«TH

4. = JEYATIh HAITH

Question Number : 168 Question Id : 5096477960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ty e § TS qur FAIT:

Options:

1. » Sifdrer
2. v Thter
3. = el

4. » €T

Question Number : 168 Question Id : 5096477960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Nen’ e & TFeNUT saAam:
Options:

1. = aAlfchel
2. v FhTel
3. ® olchel

4, = ATEFT




Question Number : 169 Question Id : 5096477961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3T UGHET a1 Mar] arad & @it [hdT 3

Options:

1. * 3[RHHD AT
2. v U TohaT

Question Number : 169 Question Id : 5096477961 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘I8 UGl el AT g 7 I@iha AT &

Options:

1. = 3chdeh TohdT
2. v WM fohar
3. = egsas rar

4., = oTH Td
i

Question Number : 170 Question Id : 5096477962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘B O & ST MR GioT @] eATer ehr L@iTahe 3T 3

Options:

1. v Gra-eTedh ETT

Question Number : 170 Question Id : 5096477962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AL GT & el 3N el &' Grrd T IWTTh 3 &

Options:

1. v HFaeddleesh 373




2. % Hgﬁ-aa’rwa 3T
3. * AEAITCEagsh 3T
4, = To9Ta

Question Number : 171 Question Id : 5096477963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT § § DI-9T SIEE Yool T 8

Options:

1. v O™
2. % BT
3. = 3TEYT
4. % HTTHEGAT

Question Number : 171 Question Id : 5096477963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foraifeli@d A @ Hler-ar ereg gieer &:

Options:

1. v Teag
2. = feIsar
3. = 3TEdT
4. = gTfHAbRT

Question Number : 172 Question 1d : 5096477964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

PI-TT L[, FAITAT 5?2

Options:

1. * QIiged
2. % Gied
3. = Titecd
4, v AT

Question Number : 172 Question Id : 5096477964 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

hlel-AT ereg, TAIfeldl &7

Options:

1. % Hlfeaey
2. = ®igd
3. = qIfsca
4. v AdeT

Question Number : 173 Question Id : 5096477965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SRS T g B TEE:

Options:

1. v ATEHAT - F

2. % G - & [olJ
3.« BH - Pl

4, = U -4

Question Number : 173 Question Id : 5096477965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FATIT FREF e I IgaIaT:

Options:

1. v HATIHIOT - I

2. = HFEYET - o felw
3. % HH - Fr
4, = 39IEIeT - &

Question Number : 174 Question Id : 5096477966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST T B-ET 2

Options:

1. = agAT



2. % gl
3. v ST
4, % Tgdr

Question Number : 174 Question Id : 5096477966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MhHF TohaT hia-8r &2

Options:

1. » &&ell
2. % TLEAT
3. v STdr
4. = TgdT

Question Number : 175 Question Id : 5096477967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TrTAT SIEC W STl T FATT:

Options:

1. = Terermar
2. = oherdT

3. = TauTq
4. v Teramat

Question Number : 175 Question Id : 5096477967 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAUTAr esg T TAITelT Sl

Options:

1. = [gurdr
2. % qgdr
3. = Taurg

4. v @YET




Question Number : 176 Question Id : 5096477968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

37T Sgd UTHT oLt 3’1 S a1 g

Options:

1. » Igeh aTFY
2. ¢ el ATy
3. = Ty areg
4, » GIh [AY ATF

Question Number : 176 Question Id : 5096477968 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T SET OTT §3ET &1 390 are g &

Options:

1. * TIFd AT

2. v Glel Iy
3. = T8 g
4, = ﬁﬂﬁ—?—rfﬁﬂm

Question Number : 177 Question Id : 5096477969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘qg DIT-9T ATCHT § ST ToIT UG T 3T gI'? S a1erg &l Tl 3

Options:

1. = Qe ATFT
2. % GFh arag
3. v [y g
4, » TRY-GGh aT

Question Number : 177 Question Id : 5096477969 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE PleT-HT A & SN ool 9¢ fae@re] §3m gr'? 3 arerd

T TP o

Options:




# el dlay

* FYF T

Asr g

ol
<

« TAS-TgFd T

Question Number : 178 Question Id : 5096477970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR GHET GRIT 3R LT AT UST'] I AT Bl G 3

Options:

1. = Ty aqrag
2. % Yo Iy
3. v GIeh aTHY
4, » LT 0 ATFT

Question Number : 178 Question Id : 5096477970 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hel FIell FTAT 3R JIA STl UST| 39T d1FT FT YR &:

Options:

1. « T8 g

2. » lel T

3. v H-{-chifd GIETS)

4. = LT THS area

Question Number : 179 Question Id : 5096477971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T T DI TEATP Tpel W'l T AT BT GG AT FIT:

Options:

1. v AT 3 g @l TgeT 3R Tpel AT
2. « TOIG ag @ TgeATAT ag 39DT AT gl
3. % eI AT 7 Dgl, TpeT ST3N]




4, « AT SY gl T DT eI, I8 TPt W 111

Question Number : 179 Question 1d : 5096477971 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT A T HT Al Thol AT’ FH R T TIFd T

G

Options:

1. v & of ST & dgarar 3T Tehol AT
2. * T8t I I TEAAT I8 3GhT AT &l

3. % ogeshT AT & Fgl, Thel 37

4. AT o S &1 Sed R AgeldT, 3§ Thol Al el

Question Number : 180 Question Id : 5096477972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgl # § DIF-97 a1 BT YBR Ta1 giar?

Options:

1. % G AT
2. % Ggh a1ag
3. = Ay g
4, v &Y qrag

Question Number : 180 Question Id : 5096477972 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT &d & @ HIT-GT aeFg kT YR Tal adr?

Options:

1. = Ll Al

2. = {-i-’:-ljcrd GIER)
3. = TR areg
4. v BT g



General Hindi?

Group Number : 10
Group Id: 509647101
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section Id : 509647261

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 509647379
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5096477973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh T ¥ TEL gry # ST T (Saueiien) g, 31T & Al dhgd g

Options:

1. v 3T

2. % JU
3. = fag

4, = 379

Question Number : 181 Question Id : 5096477973 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk BT & gEY g1 H AT T (Saoreliel) &, SHfelv el <l
FEd &

Options:




v geg
Rea
. 37eF

ol
#®

Question Number : 182 Question Id : 5096477974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et 2 Tor - s, T AT A 22

Options:

Question Number : 182 Question Id : 5096477974 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hical & TIT HleT-AT ersc TIF wEl Bl &7

Options:

% FYTCEAT
 FhEr

TTgeRT
v e

Question Number : 183 Question Id : 5096477975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tcdellay § MY T Sree, T 37 3

Options:
1. v 48T
2. % ATYY

3. % E

1.
2.
3.
4.




4, % HIEIT

Question Number : 183 Question 1d : 5096477975 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FAcdelleh’ H AT A e6g I 3T &

Options:

1.&?34@"?5[
2. = HT

e

3. ® heC

4. = AT

Question Number : 184 Question Id : 5096477976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAAYAT g7 &b BIRUT HATHT Pl BHgl ST 8-

Options:

1. % 3AT
2. % 3OO
3. v efalT
4. « T8

Question Number : 184 Question Id : 5096477976 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qél?—l‘%‘:‘i’ra‘lﬁa?mﬁﬁl?ﬁaﬁqwsl ST &

Options:

1. = 3AT

2. % 390N
3. v e
4, = ferar

Question Number : 185 Question Id : 5096477977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘I STee, o1 U g1 o



Options:

1. % 317g
2. % ST
3. = g
4, v qrYg

Question Number : 185 Question Id : 5096477977 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT oTeg T TITT oTaT &

Options:

1. » 31fg

2.« g
3. % Yoodl
4. v =Yg

Question Number : 186 Question Id : 5096477978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tarer e o1 faelw gidr &

Options:

1. % oy

2. v e
3. = U™
4, » a0y

Question Number : 186 Question Id : 5096477978 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT’ ereg 1 TTH BIAT &

Options:

1. = dg
2. v favy
3. » TaYTeT



4. » TETre

Question Number : 187 Question Id : 5096477979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ATED’ 2T, DT Al G

Options:

1. = gid
2. % Piad

3. v i
4, = gisd

Question Number : 187 Question Id : 5096477979 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AR eeg T TOelH BT

Options:

4, = qfSd
Question Number : 188 Question 1d : 5096477980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT SIec, T TeellH gl &

Options:

1. * I
2. v Waied
3. = qdrir
4, = I

Question Number : 188 Question 1d : 5096477980 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘YA’ ¢1sg T [dald BIdT &

Options:




B W=
®

Question Number : 189 Question Id : 5096477981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“JITSIT T TAeTH FHIT:

Options:

1. » 3mMerepr
2. % S[epr

3. v [aam
4, % qcITeIT

Question Number : 189 Question Id : 5096477981 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AR T TAlH BI9:

Options:

1. % 3TeTRT
2. % 9ThT
3. v TeTeT

4. = AT

Question Number : 190 Question Id : 5096477982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G, ST, I el g

Options:

1. v UGgdT
2.*@@'
3. = AT



4. = AT

Question Number : 190 Question Id : 5096477982 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘W' ereg HT HelH &

Options:

1. v Uaoddl
2.%85:@'
3. » AHAN
4. » gAY

Sub-Section Number: 2
Sub-Section 1d: 509647380
Question Shuffling Allowed : Yes

Question Id : 5096477983 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

QQuestion Label : Comprehension



AR TEIST B TGdHT SYHT ol 3a< o]

Rt 3 Sre €1 g & - 2% T e T G-, A 0 T R
AT, IHDT TR T gl 1T, AT D L gl 1T, T AT, IHRT AT L 3l
THRIT, F GHTSIT ThEsTST G50 T8 31 AT ART T 32 Al 39 U7 I
Giat df W U Toh AT T GeieT efeh & SITRIRUT, SAAgIR, ATel-eel T, Brd-
holTq AT UT-SIUT & g1 TehdT &< gl g - a1 el T §qg gl eith
T TEATT 39D 3Tl ¥ Bl ST el 2’1 AT Tk DT G dST 4 g,
3YdhT hiTd BT ATUR 3, 3D IFTd DT U g JAT ST D UET Ve,
LT, GYieg 3MTTC, i MU 19T 31 <A TFAAT <dieh gt UL LATeh bl

YOI gid g1 31T GER H ST UL S 34, g 3N [eprdd g, 37
D argl & ANTIReT h AT DT dgd a7 AN g1 SATUT DT JTET gAR
QTA- 31 BIET-TT 8 SITUTH, ST Tt Tersr-geg H eerea-gT gl 71T 9T, 3+
STITIEehT e ST & IRUT 37T Terser # G: WdBT UT T g1 W & 31T
GHR QT # ATde Hod! &l Al & GHY e, BRI T DT 4T g AT
&l TAD AT BT Paed g [d ag AT i 3N T &l

Sub questions

Question Number : 191 Question Id : 5096477984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = 9
2. % Uq

3. vaT
4, = oo

Question Number : 192 Question Id : 5096477985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTEITSr T Yol Tell 3
Options:

1. vara
2. % I



3. =9
4. % qTTTRAT

Question Number : 193 Question 1d : 5096477986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afer & Rrardhr gt 78 2

Options:

1. # JT I

Question Number : 194 Question Id : 5096477987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STTUT T SSTEE 1&AT 3 STgl & el ob:

Options:

1. * YI§9 & [elq
2.« S & iy
3. v ag & folq

4. » 3FId & ™Y

Question Number : 195 Question Id : 5096477988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEITSr & AR HRT § ST 3

Options:

1. * FAT-TISTT Pl
2. % SIch-Aicyd

3. % ¢T-G¥ICT i
4. v qid Gedl dr

Question Id : 5096477983 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



fFafeI R AT I Tgeht AT Tal 3cal Gord

fordlT o ST €1 g1 & - I Foed FT oof acc & I, A FS
maﬁgm,aﬁmmwmaw,a’rgmwcﬁr
TRIT, W] AfE 3TRT ARF 7S¢ g1 a1, AT GHIGIV sTehdorol
HaFS A & I IRT FAT §? A 5 WReA Ieal @iel
&H urudl fof IRT T T sTTFd & MU, STIeR, dTal-
Tolel, HIY-FeTd TAT IJUI-EN & &l FFellT & T Far § - IR
ISl T HHE & AT T UgdTel 3@l el & Hr &
Tohd! &' IRT a7 G898 F87 9 &, 3Tl hild I
TR &, 3TehT Soallcd ol YTl & AT Sdel o HHET JHdl,
UeIadl, HATE 3MMe I IR fRer & aREae safea & s
b T HTIR Bl &l 37T AR H ST TS Sdal Joald,
THE 3R Owfad 8, 3 S ggf & el & aiT #1
SROICE Tl &l STl T 31807 AN dTH gl Bier-ar
ger ST, St fegd fea-ge & eawd-ar g g o, v
oATITRERT sk TR o FROT 3T faod A Yeof: GicISaT T 3T &l
AT | 37T BAN 39 A sifcdes el hr AT & TAT &g
FRUT TSI INT U & 9T & Tk PR &1 Hhaed &
for g aIRT Fr 3w <7 2

Sub questions

Question Number : 191 Question Id : 5096477984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=TT hT Scollad I Tl &:

Options:

1. = JATel



2. % Yol
3. v IRA
4., = &ol

Question Number : 192 Question Id : 5096477985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ICITL T Hel T &

Options:

1. v IRT
2. % YIa
3. % HH

4. = TRl

Question Number : 193 Question 1d : 5096477986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Iy & fraer gfg aigh g

Options:

1. = 37T T

2. = 3edld @l
3. = HHG T
4.%@%@

Question Number : 194 Question Id : 5096477987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STATeT T 3GIE0T ST & J8r & &l o

Options:

1. = H@EH & folv
2. = R & v
3. v IRT & Tolw




4. % 3edld & &IT

Question Number : 195 Question Id : 5096477988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T & 3THR AR H FAT ¢

Options:

1. = FATeT-TaaTal T
2.« efFa-ared

3. * UA-HFUGT T

4. v ATdh W $T

Sub-Section Number: 3
Sub-Section 1d: 509647381
Question Shuffling Allowed : Yes

Question Id : 5096477989 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

YT T T o UGaT SYPT JaT JaT &l

TS 3= ATAe I & g1 SitereRdt § 948w #7471 ST gl g ih
S @ # @1 gl a1 & & A6 3R TY-U&T Bl AT T &
AW, Tehe A 3R SITCAT & & helol AT & To1T 31 8T & ol Y
qd g 370 99 T3T 3 “TIUdR @1 Thdt e ot IS TR BT, Tt
STEITT, TORT THIRTST-BaTSr T JITTT~ad deeT qaT [l oI/, e 37X
FELTHE, b P AT W ST GG THerdT 3, 9T ThdT T & AT 3 &
qeTT gt &t ST Fehd 1T 31U Tl T aT fam & gt it Sitd g, I Sie gH
3T SiTe TOUh # &7 & g dF gHRT Siel 84 gl ST g1 e
RITPHR T TST Dls UH Ta1 ol

Sub questions




Question Number : 196 Question Id : 5096477990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ot 3T Y0 O 97 el &

Options:

1. » SMETT-TET
2. % H-YTeAT
3. % O BT 4@
4. v STddar

Question Number : 197 Question Id : 5096477991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTEITSr & AR H @l < THerdT 3

Options:

1. » UTIAT &
2. % JTeATcHhdT I

Question Number : 198 Question Id : 5096477992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Myl § T DIF-97 TUUGR 781 Dgellal 87

Options:

1. = 3¢ @f TG @I

2. % 9 I HIS AT

3. * TITY I WY ST
4. v JEITHS, & HIH T 3T

Question Number : 199 Question Id : 5096477993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A ST i g=aT &d1s T2 8

Options:

1. ATH
2. % Uch A
3.xHAA




4 v wRTH

Question Number : 200 Question 1d : 5096477994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSN ST T q&T HIeT g

Options:
1. » g

2. % 3gd
3. v TUHRE
4, » TeremsiT

Question Id : 5096477989 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

forrafelREa AT S Igeht 3TRT Tal 3cal alfordd

HIST 319 sifcieh a0 & g1 Siaural # Avasdd At e g
&Y AT Sligerodd @ # &1 &l del & & Hefsd 3T qel-
Tl B FAGT T & AT, g AT 3T 3TcAT & @ had
Aeedl & TV gl el & oda o g5 § 398 d9d 937 &
TR F&'| FRET 37T T T5eh IR KA, FRET o T 37ea
e, fordr =ma &1 wE %ﬁldl,ﬁﬂ:ﬁ'ﬂﬁ?aﬁﬁw
SUTAT, AT [AT-EaTeT I ATeNMfead ol AT TRl R,
TS T TAHAS & FA 3 G ST G TAorar &, Sqehr
forelT oY @@ a1 3Tl | Jolell T8l hT ST Fehelll 3Tet forw A
gferar & @efr urol Sfid 8, W Sie & 379l Silae WWY+hR A
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Sub questions




Question Number : 196 Question Id : 5096477990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATelg T 3 WOl 8 Hed Rl &

Options:
1. = 3T@ER-Tolar
® S H-HTAT

2.
3. % dd <Rl gz
4. v afQ<Far

Question Number : 197 Question Id : 5096477991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IEITT & HATAR A FT Jal TR &

Options:

1. = yrefaT &
2. % 3MeYTcHhar O

3. v RIiga &

4. % YeIT-UTS &

Question Number : 198 Question Id : 5096477992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafEaa & O Fia-ar WY T87 Faoldl &7

Options:

1. = 379 Y U @

« & P HISTT ol

2.
3. » I HT A FHT
4. v JIWTAS & HTH o AT

Question Number : 199 Question Id : 5096477993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HISI Sidel T Ueadl S5 a8 &:

Options:

1. = AT &
2. = HAlPdT H
3. % ®H A
4. v Wgd A

Question Number : 200 Question 1d : 5096477994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IEGTeT T BT AT ¢

Options:

1.« g@
2. % 3ealld




